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Question Number : 1 Question Id : 2752284018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Thrissur Pooram is an annual temple festival held in
Options :

1. * Karnataka

2. % Madhya Pradesh

3. ® Tamil Nadu

4. ¥ Kerala

Question Number : 1 Question Id : 2752284018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



EERCRE! A iR e wifer Ia B
Options :

1. % HAlcPp

2. % A Y

3. % e A1g

4. ¥ XA

Question Number : 2 Question Id : 2752284019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following pairs of dance and state it is associated with is incorrect?
Options :

1. % Gafa - Maharashtra

2. ® Kathi - West Bengal

3. ¥ Alkap - Andhra Pradesh

4. ¥ Chappeli - Uttar Pradesh

Question Number : 2 Question Id : 2752284019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad & ¥ 7 3R ST Teifdd Ieu Bt S Ted 82
Options :

1. % T - HERTY

2. ® 1Al - UfEH ST

3. ¥ 3SBIY - 3iYY UG

4. % FUA- IW U

Question Number : 3 Question Id : 2752284020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following is a method of measuring National income?



Options :

1. % Depreciation Method
2. # Utility Method

3. % Profit Method

4. ¥ Income Method

Question Number : 3 Question Id : 2752284020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Prmfifee 3 3 5 & i oma 51 o R e
Options :

1. % Teug fafy

2. % JUITAT fafdy

3. % Y fafy

4.« 3mg fafy

Question Number : 4 Question Id : 2752284021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Presenting the Union Budget for 2021-22, Finance Minister Nirmala Sitharaman said that the Budget proposals for this financial year rest on
pillars.

Options :
1. # three
2. ¥ six

3. % five
4. % four

Question Number : 4 Question Id : 2752284021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2021-22 % foTT Bt Sote U1 HRd g, faw 13 e Sarm- A &1 fo 39 foxiia au & soic ua WU IR e

Options :



1. % dF
2. ¥ 38
3. % g
4. % IR

Question Number : 5 Question Id : 2752284022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
acid is also known as Methanoic acid.

Options :

1. # Erucic acid
2. % Acetic acid
3. # Lactic acid
4. ¥ Formic acid

Question Number : 5 Question Id : 2752284022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 DI HAISH 3 P =g § HI ST 1 5
Options :
1. % S3RYP 3T
2. % QR 3t
3. % dfaed s
4. BIHD ST

Question Number : 6 Question Id : 2752284023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is not a viral disease/infection?
Options :

1. # Chicken Pox



2. % Mumps
3. % Typhoid
4. # Measles

Question Number : 6 Question Id : 2752284023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafifaa # & S faum /s qur 76l 82
Options :

1. ® B ATl

PARARIINES (1]

3. ¢ 3SR

4, F GW

Question Number : 7 Question Id : 2752284024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is an east flowing river in India?
Options :

1. # Narmada

2. % Tapi

3. ® Sabarmati

4. ¥ Krishna

Question Number : 7 Question Id : 2752284024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifed 7 @ o @ 4Rd § qd @t 3R g8 areht 7 22
Options :

1. % qHa

2. % qmdt



3. % greRHdr
4. ¥ P

Question Number : 8 Question Id : 2752284025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Shivanasamudra falls of Karnataka is situated along the river

Options :

1. # Krishna
2. ¥ Kaveri
3. % Godavari

4. % Manas

Question Number : 8 Question Id : 2752284025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e B RIaHHsH JuTd T P R RE B
Options :

1. % Wl

2. ¢ BIR

3. % Terad

4, % HEY

Question Number : 9 Question Id : 2752284026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The famous Poona Pact was signed between Babasaheb Ambedkar and Mahatma Gandhi at Yerawada jail in
Options :

1. % 1939

2. % 1928

3. % 1936



4.4 1932

Question Number : 9 Question Id : 2752284026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ISR TS HR 3R T ieh & o= A IRaeT HRITR H UiRig g0l 99 &R g&aier fhg e 3|
Options :

1. % 1939

2. % 1928

3. % 1936

4.+ 1932

Question Number : 10 Question Id : 2752284027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The objective of was to fund the Hindustan Republican Association (HRA) under with funds stolen from the British
administration.

Options :

1. ¥ Kakori Conspiracy Case
2. ® Meerut Conspiracy Case
3. ¥ Peshawar Conspiracy Case

4. % Delhi Conspiracy Case

Question Number : 10 Question Id : 2752284027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
D1 Iex T U= ¥ TRY TN o § ffgea™ Rufsdtes-1 Taifusm &1 (14 3= o)
Options :
1. ¢ BIHRI TSI qrHdl
2. % TS vdo A1Hdl
3. % URIOR YA A1Hc
4. % facol v ArHE




Question Number : 11 Question Id : 2752284028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Harijan Sevak Sangh was founded in Pune by in 1932.

Options :

1. # Narayana Guru

2. % Babasaheb Ambedkar
3. % Mahatma Gandhi

4. # Jyotirao Phule

Question Number : 11 Question Id : 2752284028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BRSO Y& U9 1 RITAT 1932 H EREEEGRIERIT
Options :

1. # ARTYU ]S

2. % QAN AdSHR

3. ¢ Tl Mgt

4. % faRTEd B

Question Number : 12 Question Id : 2752284029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was famous as 'Loknayak'?
Options :

1. # Purushottam Das Tandon

2. % Lala Lajpat Rai

3. % Vallabhbhai Patel

4. ¥ Jayaprakash Narayan



Question Number : 12 Question Id : 2752284029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofefad & ¥ oF die-ras & 71 T URig U1
Options :

1. % 3HY g1y ¢ed

2. % Tl sy d X1g

3. % gEAHHTS Ucd

4. SIUDBIRT ARTIU

Question Number : 13 Question Id : 2752284030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following pictures won the Golden Globe Award 2021 for 'Best Picture Drama'?
Options :

1. # Promising Young Woman

2. # The Trial of the Chicago 7

3. ¥ Nomadland

4. % Mank

Question Number : 13 Question Id : 2752284030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ ¥ forg gafed 3 99y gafed Aes & T M did TRIBR 2021 S
Options :

1. % AR T qHA

2. % GO it G RIGNT 7

3. ¥ AHSds

4. % HHP

Question Number : 14 Question Id : 2752284031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The Asian Development Bank and the Government of India has signed a $2.5 million project readiness financing (PRF) loan to support project
preparation and design activities to upgrade major district roads in in June 2021.

Options :

1. # Manipur

2. ¥ Sikkim

3. % Arunachal Pradesh
4. ¥ Nagaland

Question Number : 14 Question Id : 2752284031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR fIHN §F SR YR WHR A 97 2021 & & g fore Ge@! & S99 & e uRaieH T &1 dart 3R fesmgA
Tfafafra &1 a0 B 3 o $2.5 fAifer ufaliemT derRar famdiyor o1 R gier fHu g

Options :

1. % HOQR

2. ¢ T¥fapH

3. % 3RPUEd UGRT

4. % AETICS

Question Number : 15 Question Id : 2752284032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following states did not receive A++ grading according to the Performance Grading Index 2019-20 released by India's
Education Ministry in June 2021?

Options :

1. * Punjab

2. % Tamil Nadu
3. # Kerala

4. ¥ Karnataka

Question Number : 15 Question Id : 2752284032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

YR & &1 T §RT S 2021 H ORI IRWGIHY AFET TSR 2019-20 o SIER FHfRad & F fod I B A-++ AT 781 firefho
Options :

1. % UST9

2. % A TG

3. % Rd

4. ¥ FHlcH

Question Number : 16 Question Id : 2752284033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Group of seven (G7) advanced economies signed a landmark deal on taxing multinational companies in June 2021. As per the deal, minimum
global tax rate would be at least percent.

Options :
1. ® 18
2.9 15
3. % 10
4. % 12

Question Number : 16 Question Id : 2752284033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I TEH(G7) Bt A Srfcaaratt A 9 2021 B TGISHT HUMHE TR IR T W ARG THeia W gwHIER Tl e & 3uR,
RIGGE) EREAEGRE gfr=rd grft|

Options :

1. % 18

2.9 15

3. % 10

4. % 12

Question Number : 17 Question Id : 2752284034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Part of the Indian Constitution deals with Temporary, Transitional and Special Provisions.
Options :

1. = XX

2.9 XXI

3. % XIX

4. % XVII

Question Number : 17 Question Id : 2752284034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR AT &1 U st ufaef ofR fady wraet § Tefd g
Options :

1. % XX

2.9 XXI

3. % XIX

4. % XVII

Question Number : 18 Question Id : 2752284035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following Constitutional Amendments made it obligatory for seekers of public office to swear their allegiance to the Indian
Republic and prescribe the various obligatory templates?

Options :
1. ® 27th
2. % 2lst
3. ¥ 16th
4. % 12th

Question Number : 18 Question Id : 2752284035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fFofefad & 3 fg JauRe Iy 3 grdei—e Ue arg- ardl & fort HRAR VRS & Ufd 3ra=t AT &) 2oy 4 3R f3fs ifvard
UReUl ! RYiRa s ifvard s faam

Options :
1. % 27d
2. % 21d
3. ¢ 164
4. % 12d

Question Number : 19 Question Id : 2752284036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Swaythling Cup is associated with which of the following games?
Options :

1. ¥ Table Tennis

2. % Golf

3. % Football

4. % Badminton

Question Number : 19 Question Id : 2752284036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Qi 5y FraRied 3 @ feg @a @ dsfid 27
Options :

1. ¢ ¢9d ¢

2. % Tlicth

3. % edld

4. % SSftied

Question Number : 20 Question Id : 2752284037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Who among the following is responsible for all the three highest scores made by a batsman against India in the 21st century?
Options :

1. # Dinesh Karthik

2. # Sunil Gavaskar

3. # Harbhajan Singh

4. ¢ Ishant Sharma

Question Number : 20 Question Id : 2752284037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed 3 3 o 218 I § URd & RAT® Jeciarst gRT ST T T Soad WhR & e fSHGR 87
Options :

1. % fe=r oI

2. % T MATH

3. % gXHo Rig
4. 3Iid <l

General Ability
Group Number : 2
Group Id : 275228130
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



General Ability

Section Id : 275228220
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228262
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 2752284038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following series.

_OPQA _PQAO _QAOP_
Options :

1. ¥ APOQ

2. % AOPQ

3. % OPQA

4. % QPOA

Question Number : 21 Question Id : 2752284038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAafaRad e & g ug 1d &
_OPQA_PQAO_QAOP_

Options :
1. # APOQ



2. ¥ AOPQ
3. % OPQA
4. % QPOA

Question Number : 22 Question Id : 2752284039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following alpha numeric series.

W-36,T-64,Q-100,?
Options :

1. % P-144

2. % S-144
3.9 N- 144

4. % N-169

Question Number : 22 Question Id : 2752284039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeRId S1aRTBI (31ethT GARD) YRael I [T HI |

W-36,T-64,Q-100,?
Options :

1. * P-144

2. % S-144
3.9 N- 144

4. % N-169

Question Number : 23 Question Id : 2752284040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.



43:12::72:7
Options :

1. % 21

2.¥ 14

3. % 71

4. % 56

Question Number : 23 Question Id : 2752284040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 fAdH e T 997 B S iR UG ¥ 341 UHR ¥ Yafdd g fo UR ¥ 3R UG Ugd Ug ¥ Hafed g

43:12::72:7
Options :

1. # 21

2.¥ 14

3.% 71

4. % 56

Question Number : 24 Question Id : 2752284041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one is odd in the given series.

A,PC,Q E R G,J
Options :

1.¥]

2.% P

3. % E

4. % R

Question Number : 24 Question Id : 2752284041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

& T ggen § H a1 favH B

A,P,C,Q ER,G,J
Options :

1.9 ]

2. % P

3. % E

4. % R

Question Number : 25 Question Id : 2752284042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

Pyramid : Egypt :: Eiffel Tower : ?
Options :

1. * Brazil

2. % Spain

3. ¥ France

4. % USA

Question Number : 25 Question Id : 2752284042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fAdhed &1 997 B S iR UG ¥ 341 UHR ¥ Yafid g fo UR ¥ gOR1 UG Ugd Ug ¥ Hafed g
m:m::maﬁ?:?

Options :
1. % sfere
2. % WA
3. ¢ Big




4. % USA

Question Number : 26 Question Id : 2752284043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the pair that is related on the same basis to the pair given in the question.

Dearth : Surplus :: ?: ?
Options :

1. # True : Unbelievable
2. % Simple : Complicated
3. # Dream : Fantasy

4. % Touch : Repulsion

Question Number : 26 Question Id : 2752284043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I SIS B T B S Uy 7 ) 12 S S 9HH YR I Yefa ]
321:: SYYAY - 2: 2

Options :

1. % g fayag
2. ¢ I Sifed

3. % WY HledHdH
4. % Tgf ; gfamyom

Question Number : 27 Question Id : 2752284044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

EGI:JLN :: ADG:?
Options :



1. ¥ HKN
2. % HIL
3. % UM
4. = ILO

Question Number : 27 Question Id : 2752284044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 faded &1 79 & S R U ¥ I TSR T Taifdrd § o TR | g¥R1 S Ugd Ue § Yefid g

EGI:JLN :: ADG:?
Options :

1. ¥ HKN

2. % HIJL

3. % UM

4. % ILO

Question Number : 28 Question Id : 2752284045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

BOY : XKA :: CAT :?
Options :

1. * WHV

2. ¥ WYF

3. % WTS

4. % WLM

Question Number : 28 Question Id : 2752284045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



39 fahed &7 T8 B o1l IR U ¥ 34T UHR I Hafed g for TR ¥ gIR1 U¢ Ugd Ug 3§ Jafd 81

BOY : XKA :: CAT :?
Options :

1. ¥ WHV

2. ¥ WYF

3. % WTS

4, ¥ WLM

Question Number : 29 Question Id : 2752284046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three friends Raja, Rony and Mou are sitting alone at the corners of a triangular field facing the centre. Raja is to the left of Mou. Who is sitting
to right of Mou?

Options :

1. # Raja

2. ¥ Rony
3. % Mou

4. ¥ Nobody

Question Number : 29 Question Id : 2752284046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬂqﬁaw,ﬁaﬁ?ﬁaéﬁﬁshw{q HRPh AYSTHR TG & Bl TR hd 86 ¢ | TS A & a18 3R g | A8 & &Y 3R DI §31
9

Options :

1. # XSl

2. ¢ A

3. % A3

4. % Plg To!

Question Number : 30 Question Id : 2752284047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Eight persons Aditi, Bony, Chaitali, Dipa, Ela, Farhan, Gargi and Hari are seated in a circle facing the centre. Dipa is between Bony and Gargi
and Farhan is between Aditi and Hari. Ela is 2nd to the right of Aditi. Which of the following is Aditi's position?

Options :

1. ¥ Right of Farhan

2. % Left of Farhan

3. # Between Ela and Farhan
4. % Left of Bony

Question Number : 30 Question Id : 2752284047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3116 faq sifefa, S, <rarel, <iar, 3am, wRem, TR 3R B8R Ta Md & &g &1 3R T8 R 96 ¢ | At a3k Tff & g § iR
wEM Sifefd SR R & da g1 3o, sfefd & e ¥ N WA R 31 Fufafaa & F sifefa ) fufa o 82

Options :

1. ¥ TR ®1 a4 3R

2. % TRgM & a1 3R

3. % 3 3R B & o |

4. % g b 91U 3R

Question Number : 31 Question Id : 2752284048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question two statements are given, followed by two conclusions, I and II. You have to consider the statement to be true even if it seems to
be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement 1. A > B,
Statement 2. B=H, H>G

Conclusions I. A > G
Conclusion II. A >H

Options :
1. # Only Conclusion I follows



2. % Only Conclusion II follows
3. # Either Conclusion I or II follows
4. ¥ Both Conclusions I and II follows

Question Number : 31 Question Id : 2752284048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y H, 31 py fRu e B, s a1 < fased 1 3R 11 fRT U § 1 3ueh) 39 Syl &) I AT &, Y 81 I8 ITHHIa: I1d a2 ¥ fird Uelta
11 3D T FHR1 g [ [T T sl § J &1 1, IS i 51 dl [GT T Bl & F SFIwRuI Rl g |

HYq 1. A>B,
HY12.B=H,H>G

YL A>G
ey 1. A>H

Options :

1. % Had FpY | SFIER0T el §

2. % Had BN I1 SR Hl §

3. % T al Fpy 1 a1 FShY 11 SRR BT §
4. TV 1 3R 11 ST SRR HRdl &

Question Number : 32 Question Id : 2752284049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question two statements are given, followed by two conclusions, I and II. You have to consider the statement to be true even if it seems to
be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement 1. Some exams are tests.
Statement 2. No exam is a question.

Conclusions I. No question is a test.
Conclusion II. Some tests are exams.

Options :

1. # Only Conclusion I follows



2. % Only Conclusion II follows
3. # Either Conclusion I or II follows
4. % both I and II follow

Question Number : 32 Question Id : 2752284049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

yy H, 3l py feu e B, s a1 < s 1 3R 11 fRT U §1 3iueh) 39 Syl &bl I A=A &, W 81 I8 ITHIa: I1d 9 O fie Uddta
11 HTUDY T FAT ¢ [ T MU e & | 17 1, fe IS 81 ot fou U = & F SR axan g

HYT 1. FS T gem g
HYT 2. Pls W& UY TRl g |

frsme 1. 1 Uy Tieor e B
f5hY 111 $ TRIer alen g

Options :

1. # $Had [5HY [ 3IERU Hdl §

2. ¥ Had fHY 11 SR BT &

3. % gy fe 1 a7 sy 11 SRl HRdT |
4. % 1 3R 11 G SRRV A §

Question Number : 33 Question Id : 2752284050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following number series.

23,32,43, 34,62, 26, 55, ?
Options :

1. ® 56

2. % 54

3.9 55

4, % 53



Question Number : 33 Question Id : 2752284050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad e yae § g ue J1d B
23,32,43, 34,62, 26, 55,?

Options :

1. ® 56

2. % 54

3.¥ 55

4. % 53

Question Number : 34 Question Id : 2752284051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one is odd letter in the given series?

Y, U, PMLE
Options :
1. = U
2.¥P
3. M
4. % E

Question Number : 34 Question Id : 2752284051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 71 sRae o o 11 favy 31eR 82

Y,UPMLE
Options :

1. % U
2.¥P



3. M
4. % E

Question Number : 35 Question Id : 2752284052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following diagram represents the relationship among Apple, Banana and Mango?
Options :



Question Number : 35 Question Id : 2752284052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad 7 3 &1 91 3R e, Bl 3R 31 & d1d & Hay Bl Gidl 82

Options :

1. =
2. % l

. O
4

4. v O

Question Number : 36 Question Id : 2752284053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many squares are there in the following figure?



Options :
1. % 16
2.%19
3. % 21
4, % 23

Question Number : 36 Question Id : 2752284053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafafaa srefa & fban avf &2

Options :
1. % 16
2.9 19
3. % 21
4, % 23

Question Number : 37 Question Id : 2752284054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Complete the question figure.

?
Options :

/
1. %
2. %

/
N4




Question Number : 37 Question Id : 2752284054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UY 3Tl Dl GRT D1 |

Options :

/]




/]
Wy

Question Number : 38 Question Id : 2752284055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the question figure.

O | A
A ?
Options :

O

1. ¢

®




Question Number : 38 Question Id : 2752284055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U 3HThId HI R DI |

Options :

O

1. ¥

®




Question Number : 39 Question Id : 2752284056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Count the number of cubes in the given figure.

Options :
1.¥ 4
2.% 3
3.%2
4. %5

Question Number : 39 Question Id : 2752284056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 712 anepfa § G-t Bt TReAT Y O B |



Options :
1.¥ 4
2.% 3
3.%2
4. %5

Question Number : 40 Question Id : 2752284057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many pentagons are there in the following figure ?

Options :
1. %3
2. %2
3.6
4. % 4

Question Number : 40 Question Id : 2752284057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafafad srefa & fam days &2

Options :
1. * 3
2.% 2
3.6
4. % 4
Arithmetic Ability
Group Number : 3
Group Id : 275228131
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Arithmetic Ability
Section Id : 275228221
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 20



Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228263
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 2752284058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sum of 2 numbers is 117. Their HCF and LCM are 13 and 260 respectively. Find the difference of the numbers.
Options :

1. % 11

2. % 12

3.¥13

4. % 14

Question Number : 41 Question Id : 2752284058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 T3 T AT 117 § | ST HEH THTIAAS IR TYTH JHTIAGD HHT: 13 3R 260 €1 TeATSH &1 SfdR J1d B
Options :

1. % 11

2. % 12

3.¥ 13

4. % 14

Question Number : 42 Question Id : 2752284059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the least number than 256 should be divided by to make it a perfect cube.
Options :



1. % 2
2.¥4
3. % 8
4. % 16

Question Number : 42 Question Id : 2752284059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e BICT TS 1 B o 256 W fauThora fowan Sme < I quf o= &= S|
Options :

1. %2

2.¥ 4

3. % 8

4. % 16

Question Number : 43 Question Id : 2752284060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A good costs Rs 1,800. It has been marked up by 50%. A trade discount of 20% is offered and then a cash discount of 10% is offered on the sale.
Find the value of the cash discount.

Options :

1. ®* Rs 192
2. ¥ Rs 216
3. % Rs 240
4. % Rs 270

Question Number : 43 Question Id : 2752284060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP I P AN 1,800 FUT g | T 50% I fafed fowal T B 1 20% Pt AUR Fe B UG B TS § 3R R faeh R 10% &1 98¢ ge
&1 UG B T3 | FHE F B J F1d B |

Options :



1. #* 192U
2.9 2162490
3. % 240%UUd
4. % 27044

Question Number : 44 Question Id : 2752284061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X bought erasers and sharpeners for Rs 500. Rs 27 was spent on sales tax which is 18% on selling price of taxable items. Find the cost of tax-free
items.

Options :

1. # Rs 311
2. % Rs 315
3. % Rs 319
4. ¥ Rs 323

Question Number : 44 Question Id : 2752284061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X 7500 ¥UT H ZIOR 3R YR WIS | foeh! 3 TR 27 ¥UT Y fhT 7T S = A1 axgaii & fSeh! qod R 18% g | HR-Had aegaif Bt
NGKEICER]

Options :

1. # 311%0U

2. % 315%U¢

3. % 319%0U

4. % 323007

Question Number : 45 Question Id : 2752284062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A cube has sides measuring 6 cm. Small cuboids of sides 3 cm, 2 cm and 1 cm are being carved out of the cube gradually. How many cuboids are
to be carved out so that 25% of the cube remains intact?



Options :
1. ¥ 27
2. % 28
3. % 30
4. % 21

Question Number : 45 Question Id : 2752284062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP T DT YT HTAT 6 em 81 3 cm, 2 em 3R 1 om YT & B¢ GTH BT fR-R &7 F I S @1 8 | T o=l Dl SHTAA1 8
Tl & T 25% HIT Ul Xg?

Options :

1. ¥ 27

2. % 28

3. % 30

4, % 21

Question Number : 46 Question Id : 2752284063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X bought 12 toftees for Rs 90. How much should he sell for Rs 50 to earn a profit of 33.33%?
Options :

l1.#3

2.% 4

3.¢5

4. % 6

Question Number : 46 Question Id : 2752284063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X 990 ¥UTH 12 eifthai @IS | 33.33% BT 1Y 31l B & o I/ 50 SUT H fopa-t St Tnfee?

Options :



l.#3
2.% 4
3.¢¥°5
4. % 6

Question Number : 47 Question Id : 2752284064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X started a business with Rs 50,000. After 2 months, Y joined with Rs 60,000 and Z joined after "M" months of Y with Rs 90,000. At the end of
the year, the shared profits equally. What is the value of "M"?

Options :

1. * 2 months

2. * 2.33 months
3. % 2.75 months
4. ¥ 3.33 months

Question Number : 47 Question Id : 2752284064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X 7 50,000 ¥UT & 1Y HGHE Y& (HAT| 2 AGHI & F1G, Y 60,000 $UT & 1Y JST 8§ 3R Z, Y & "M" HEH & §1G 90,000 FIT B 1Y
SJearg | ¥ & Sfd W, I THH U J ATH T HRd & | "M BT HH 71 ]2

Options :

1. % 2TgH

2. % 233U

3. % 27508

4. ¥ 3330gH

Question Number : 48 Question Id : 2752284065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the ratio of the fourth proportional of 24, 36 and 48 and the third proportional of 12 and 24?
Options :



1.9 3:2
2.% 23
3. % 2:1
4. % 1:2

Question Number : 48 Question Id : 2752284065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

24, 36 3R 48 & Y AU 3R 12 3R 24 & TR FHUTT T SUT HT 82
Options :

1.9 3:2

2. %23

3. % 2:1

4. % 1:2

Question Number : 49 Question Id : 2752284066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If A:B:C = 3:4:8, then find the proportion equivalent to A/B:A/C:A/A?
Options :

1. * 3:6:8

2.9 6:3:8

3. % 3:2:4

4. % 2:3:4

Question Number : 49 Question Id : 2752284066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfg AB:C = 3:4:8, A A/B:A/C:A/A & SRTSR FHUTA T B2
Options :

1. * 3:6:8

2.9 6:3:8



3. % 3:2:4
4, % 2:3:4

Question Number : 50 Question Id : 2752284067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man invests in a fund that provides 7% simple interest for the first 3 years and 8% simple interest for the next 2 years. Find the amount at the
end of 5 years if the principal is Rs 1,500.

Options :

1. ¥ Rs 545
2. % Rs 550
3. ¥ Rs 555
4. % Rs 560

Question Number : 50 Question Id : 2752284067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Afad MY T a2 a1 g ot Ugd 3 I & fTT 7% TR ST 3R ST 2 T o foTT 8% ATYRUI ST UG ol g1 5 a4 o ofd |
R 1 B I JALA 1,500 UL g |

Options :

1. % 54540

2. % 550®49Ud

3. ¥ 555%0U0

4. % 560U

Question Number : 51 Question Id : 2752284068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A principal of Rs 12,000 amounts to Rs 18,000 in 5 years at a certain rate of simple interest. What would have been the amount if the rate of
interest was doubled?

Options :
1. ¥ Rs 24,000



2. # Rs 18,000
3. ¥ Rs 21,000
4. % Rs 30,000

Question Number : 51 Question Id : 2752284068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12,000 ¥9T T ALY TR TS H1 (YT G TR 5 T H 18,000 $IT B ST ¢ | TS ST 1 &G SN[ DR &1 ST af M T gledt?
Options :

1. % 24,000 ¥UU

2. % 18,000 ®UU

3. % 21,000 ®4UUq

4. % 30,000 %UC¢

Question Number : 52 Question Id : 2752284069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A boy was walking around the park. He walked for half the distance at 10 kmph and the other half at 20 kmph. Find his average speed.
Options :

1. ¥ 13.33 kmph

2. % 14.44 kmph

3. % 15.56 kmph

4. ¥ 16.67 kmph

Question Number : 52 Question Id : 2752284069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP ASH1 A H g T 4T T8 3Mef T 10 kmph BT 110 F SR GEART 3MTef GRF 20 kmph BT 7110 & Tl | ST S T 1A Be |
Options :

1. ¥ 13.33 kmph

2. % 14.44 kmph



3. % 15.56 kmph
4. * 16.67 kmph

Question Number : 53 Question Id : 2752284070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A turtle moves for 8 feet in 4 minutes and takes a break for 2 minutes after which, he moves for 4 feet every minute. How much time will he take
to cover 40 feet?

Options :

1. * 12 minutes
2. ¥ 14 minutes
3. * 16 minutes

4. * 18 minutes

Question Number : 53 Question Id : 2752284070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP HG3T 4 e § 8 Wie gadr § 3R 2 e &1 faym aar 8 e a1, 98 82 e # 4 Wie Iaa1 31 39 40 Wi &1 g3l ad o o

fopdmT I9g AT
Options :

1. % 121
2. ¢ 14f0Ae
3. % 16fHHC
4. % 18fiAe

Question Number : 54 Question Id : 2752284071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A forest caught fire and 1200 people were trapped in it. The army sent 2 rescue helicopters with capacity of 60 and 90 people to do 5 and 3
rounds respectively. If only 3 more rounds can be conducted by 1 helicopter, what should be the required capacity so that all the people can be
rescued?

Options :



1. # 120
2. % 150
3. % 180
4.4 210

Question Number : 54 Question Id : 2752284071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP ST H 31T T 773 3R 1200 AT ITH T T | [T 7 60 3R 90 TR b &1 TSt 2 F2Td REIBIPR SHHTT: 5 3R 3 TGHI B & ol
WOl | TfE | BAIPIIR GRT Had 3 3R Tah TY S Tobd &, ol HTALID &HAT T 8141 BT aTfep I+ < bl sr=mm I b2

Options :

1. % 120

2. % 150

3. % 180

4.4 210

Question Number : 55 Question Id : 2752284072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 pipes are attached to a water tank. Pipe X can fill the tank in 100 hours while Pipe Y can do it in 150 hours. Pipe Z can empty it in 120 hours.
In how much time will the tank be emptied if pipes X and Y filled it half and then pipe Z emptied it alone.

Options :

1. #* 30 hours
2. % 60 hours
3. % 90 hours
4. % 120 hours

Question Number : 55 Question Id : 2752284072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 UT3U U UTt 1 bl Y SIS 718 & | TI3Y X Tht b 100 B H 4R Jobcll § Tafd UI3U Y 39 150 B¢ H WR Ihell 81 UTSU 2 39 120 G H
T R Tl § | Tl Dl fha- Try T Wrelt g ST afe gy X SR Y 3 ST 4R &d & 3R fihR U1y z 3fordl 39 WTelt o2 &l ]




Options :

1. % 309c
2. % 60 EC
3. ¢ 90 €e
4. % 1209C

Question Number : 56 Question Id : 2752284073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two parallel sides of a trapezium are increased by 50% each but the perpendicular distance between them is reduced by 50%. Find the change in
area of the trapezium.

Options :

1. % 12.5 percent increase
2. % 25 percent increase
3. % 12.5 percent decrease

4. ¥ 25 percent decrease

Question Number : 56 Question Id : 2752284073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ueh FHETR 1 &1 FHMIR Yolef H F e H 50% BT gl b1 T8 & fch STcb o<l 1 aarad G2 50% bH b1 7S & | FHeT b &Abel |
aREd 1 B

Options :

1. % 12.5 Yfa=d 9

2. % 25 Yia=Id gfg

3. % 12.5 Ufd=rd wHl

4. ¢ 25 Ufcr=Td Dl

Question Number : 57 Question Id : 2752284074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A cone has measurements of a radius of 14 cm and a height of 12 cm. A smaller cone was carved out from the top of the cone with half the radius



and half the height. Find the volume of the figure remaining.
Options :

1. % 2156 cucm

2. % 1078 cucm

3. % 1617 cucm

4. % 3234 cucm

Question Number : 57 Question Id : 2752284074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP P BT AT oI BT 14 em 3R TS 12 em &1 3 a1 SR 3eft Sams & 1Y T o MY J SieT X ST 711 AT | A ST
DT T AT B |

Options :

1. % 2156 cucm

2. % 1078 cu cm

3. % 1617 cucm

4. % 3234 cucm

Question Number : 58 Question Id : 2752284075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The table shows the different marks of different students across different subjects along with the maximum marks in the subject. In which subject
have the students scored the highest average percentage?



Subject & Max. Marks
Student English Maths History Physics Biology
150 100 125 75 30

A 129 77 21 69 a7
B 123 75 61 43 37
C 108 44 59 37 43
D 12 89 48 21 16

Options :

1. ¥ English

2. % Maths

3. # Physics

4. # Biology

Question Number : 58 Question Id : 2752284075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

diferert fafire fawat & fAfYe ST & 3IenT-31enT it o Y- fawg H 3ifdhdw 3idl & exid g1 fry fawy & sEl 3 I=dq id
yfaerd Ut far g2

faug 3 sifiewan si®
RIE] STt e | she | Jiftet | Siefess
150 100 125 75 50
A 129 17 01 69 a7
B 123 75 61 43 37
C 108 44 L9 37 43
D 12 29 48 21 16




Options :

1. ¢ 3T
2. % TIforg
3. % ifqe
4. % Sfiafag=

Question Number : 59 Question Id : 2752284076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The histogram shows the number of units sold by a company for the given years. What is the growth rate of the number of units from 2015 to
2020?

Units sold

2015 1016 2017 013 2019 2020
Year

Options :

1. ¢ 200 percent
2. % 250 percent
3. # 300 percent
4. ® 400 percent

Question Number : 59 Question Id : 2752284076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3maaf fau U auf & forg foet drumit gRT o<t 718 Sh1a) B U Bl GRTAT 8 1 2015 H 2020 AP SHIZT] B G- ! g &2 T 82




2500 -

2000

1500

#t 7r€ goEa

g

(=]

2015 2016 2017 2018 2019 2020

Options :

1. ¢ 200 gfa=rd
2. % 250 Ufa=rd
3. % 300 Ufaerd
4. % 400 gfa=rd

Question Number : 60 Question Id : 2752284077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The histogram shows the gold reserves (in $ billions) of a country for the given years. By how much (in $ billions) is the average of 2018-2020
greater than the average of 2015-2017?

Gold Reserves

2015 2016 2017 2018 2019 2020
Year

Options :



1. ¥ 200
2. % 220
3. % 180
4. % 190

Question Number : 60 Question Id : 2752284077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wﬁ;wﬁ%ﬁ%ﬁ%wﬁﬂgn@%mqﬁ)ﬁm% 2018-2020 BT 3T 2015-2017 P 3Gd F fpam 31f¥e ($
faferaa #) 82

-

@l Hew
B E e BERE R

2015 2016 a7 2018 2018 2020

Options :
1. ¥ 200
2. % 220
3. % 180
4. % 190
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Question Number : 61 Question Id : 2752284078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed Uy &, IR fiectl § 9, 39 fahcd o1 I8 &Y Ol SX1ol Ueg b1 et f[dbed gl
Options :

1. % gd]

2. ¢ BRI

3. % BIHd

4, % 3RMH




Question Number : 61 Question Id : 2752284078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed oy o, IR fawed! & 9, 39 [9@ed &1 997 &< ol oISl Xeg &1 g1 faded gl
Options :

1. % gd]

2. ¢ BRI

3. % HIHd

4, % 3ARMH

Question Number : 62 Question Id : 2752284079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeRad vy ¥, IR fasedl B 9, 39 fdded &1 9= B ol HI¥d T AT U e o 3HR IRVl & U ara fdded Bl
(d8) ASH] 9gd BIRFR B

Options :

1. ¢ IS
2. % TUMATEIS

3, % TS
4. % URHUARIS

Question Number : 62 Question Id : 2752284079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRed us H, TR fadedl § 9, I [dhed BT 70 B Sl HIgD H U 7T Wsg & AR IR0 o N arell fdbed gl
(d5) TSI 9gd GIRAR &1

Options :

1. ¢ QraIHeG
2. % TUIATIh

3. % JQAAED
4. % gRATUERISG




Question Number : 63 Question Id : 2752284080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol gy o, IR fawed! # 9, 39 [dded &1 997 &< Sl HIgdTad 31 &1 gl [ddbed 7ol o
Options :

1. % 3%

2.« Didt

3. % firer™

4. % ygura

Question Number : 63 Question Id : 2752284080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed gy o, IR fawed! o 9, 39 [9oed &1 997 &< ol HIaarad 931 &1 Hal [ddhed ol o
Options :

1. % 3%

2. ¢ DIt

3. % fierg

4. % fAgurar

Question Number : 64 Question Id : 2752284081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafed gy o, IR fawed! o 9, 39 [dded &1 997 &< Sl 3/ & UG & ol [abed ol
o sgd dR-eR fergar g1

Options :

1. % Y dIUd

2. % Y=Y §YD

3. ¢ foar favw

4. % fqUrq




Question Number : 64 Question Id : 2752284081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy A, IR el 7 9, 39 faw ey &1 997 &3 ot 39T & Ne &1 Tal fabeu 81|
e Tgd fR-R feraar g1

Options :

1. % gdY dud
2. % gAY YD
3. « fopar fa=ivor
4. % fAurd

Question Number : 65 Question Id : 2752284082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad uy 7, IR e & B, 39 I8} fah e &1 79 B3 o feT 71U Treg & et 31 1 Ifd faweu gl
g

Options :

1. % gl

2. % IR

3. % Hqdhd

4. ¢ MY

Question Number : 65 Question Id : 2752284082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad uy A, IR fowmeal 7 9, 39 I8! faded &1 7 &3 SN foTU 77U Wreg & Tg) 31 &1 IfId fapeu g1

mg
Options :

1. % Srgadl




2. ® FIRDT
3. % Aehd

4. ¢ MY

Question Number : 66 Question Id : 2752284083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, aR fowedl § T, 39 fawed &1 999 &3 o Y sk &1 Ta! [dbed 7

Options :

Question Number : 66 Question Id : 2752284083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad ve o, TR fawenl § 9, 39 fawey &1 7o &L Sl Y Ueg &1 Gal fadbea 7

Options :

Question Number : 67 Question Id : 2752284084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferiRad Uy o, IR fadedl § 9, 39 Hal fdded &1 99+ &1 Sl faU TN Wsa-gm & gt 31 o1 Iferd fadweu 5l
ENIESISI

Options :

1. % HSd-§Iqd




2. ¢ Hed-dHD
3. % diqd-dHh
4. % SfA-ge==

Question Number : 67 Question Id : 2752284084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied ve o, TR fadwedl O 9, 39 Ug! [ddmed &1 9a- &< ol [GT U Wea-TH & W Y H1 3fad fawea 71|
foTerT-Siten

Options :

1. ® HSd-dlqd

2. ¢ HSA-IHS

3. ¥ dlqdd-dHd

4. % Q-GN

Question Number : 68 Question Id : 2752284085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafofaa oy & IR fawe 7 ¥, 34 el fawed &1 997 B S Rad RIM & ot Iugad Weg &1 e fabea g |
ey ot forerh gt IEEUIEGIE

Options :

1. # W

2. % IRJ

3. ¢ g8l

4. % B

Question Number : 68 Question Id : 2752284085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed oy & IR fawedl § 9, 39 el fawed &1 997 & S Rad RIF & o Suged Weg &1 Ie! fdwed g




e ! foferfl ged foiertt gt 2

Options :
1. % WRId
2. % IRA
3. ¢ g8l
4. % Bt

Question Number : 69 Question Id : 2752284086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafoiad Uy &, IR fowedl § 4, 39 fdwed &1 99 &< SN QU T4 9199 o H1d &1 Tal faded 8l |
3{TST gob T+ gt giit |

Options :

1. ¢ T gdameTd

2. % 3Uf qAHMGIA

3. % 3l YdpbId

4. % Y HidgHTd

Question Number : 69 Question Id : 2752284086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafRed Uy |, IR fadwedl 7 9, 39 fddhed &1 999 &3 o1 fGT TN 9190 & &1d &1 ol [ddbed gl |
TSl gohTH Gait gt

Options :

1. ¢ T gdamed
2. % 3quf gHM®GE
3. % 3l Yd&dTd

4. % Y YT

Question Number : 70 Question Id : 2752284087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy o, TR fawent § 9, 39 fawey &1 7o &3 S fou T8 arey & e gfy & e &1 9e o1 fdsed g |
98 WA &b A P 3R T TST |1

Options :

1. ¢ degrd

2. % RIS
3. % ohard
4. % faegd

Question Number : 70 Question Id : 2752284087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy &, aR fowedl & T, 39 fawey &1 999 &3 Sl foU 70 arag & fore gy & Y &1 9ad o1 fased ]
98 WA & HeM B 3R Id UST 1|

Options :

1. ¢ dagrd

2. % IS
3. % Fopdrd
4. % faegd

Question Number : 71 Question Id : 2752284088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiRad Uy &, 9R fowedl O 1, 39 fased &1 99 &< 511 9a! 919 Ha &1 [ddhed gl
5 faeTerd ST § 3R A TR Uedl g

Options :

1. % Jehdardd e

2. % A dI™

3.« ggad die




4. % Ty 9y

Question Number : 71 Question Id : 2752284088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafad uy |, IR faeddl | 9, 39 f[ddhcd &1 I B2 S Tgl a1dd He &l [ddhed gl |
g faeITerd iTdT § 3R 79 A Ugdi g |

Options :

1. % Jpdardd ared
2. % A IR

3. ¢ JYId aI

4. % oy arey

Question Number : 72 Question Id : 2752284089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRed Uy &, IR fadbedl # 9, 39 fddbed &1 98 D Wl favH g ot aTe’s &7 Hal [dehed Bl
Options :

1. ® A7 9 ST 91 4 8% R &I gl i 61 82

2. ¥ A A YD, "l I &R R DI g1 o1 | g2

3. % O3 YR 2 3¢ T 8 N2 1 ghl i @1 82

4. % T A YBT- 9 &R = Bl g R I g

Question Number : 72 Question Id : 2752284089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeRad vy 9, IR fasedl B 9, 39 fdded &1 9g= & off faR19 fag gad a1 &1 Hal fddbed |
Options :

1. % 7 9 g1 91 I 8% R &l g &1 @1 52

2. ¢ T A @I, "t I 8 R Bl gl i @1 2"




3. % A A YR 2 91 8% R=d &l gl 7i X1 82
4. % A4 YBT- 9 I & N=d & g 41 @ 8

Question Number : 73 Question Id : 2752284090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafiad uy & IR foeeal ° T, 39 ey &1 Ta &1 &Y T 7Y Aipifad o1 gl 3 aran faseu g |
TSRTm A TR -

Options :

1. ¥ YA Y S 8 SN dl 48 I ¢
2. % YIS W Igd $ Bl oIl

3. % 3ffUd gRYT v ATY

4. % 30U HTH Y gaad XG0

Question Number : 73 Question Id : 2752284090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy A, IR iweal 7 9, 39 faweu &1 97 &8 Ot fou U Aeifad o1 gt 31 arerr fapea g |
Tsfeum Ao g -

Options :

1. ¢ JA Y B 8 SN dl &8 I ¢
2. % YIS T Igd $S gl S

3. % 3D uRYH v A1H

4. % 30 HH Y HIAd &1

Question Number : 74 Question Id : 2752284091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frufefad vy &, IR fawedl § Q, 39 fawen &1 w9 & S <1 112 gaTa &1 ugt o arett faweu B
JaIrIHT AT -

Options :



1. % GO BT
2. % Fooid ST
3. ¢ QN MIaHT
4. % YT ST

Question Number : 74 Question Id : 2752284091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRed Uy &, aR fawedl § 9, 39 fadhed &1 984 & ol &1 715 JeTaX &1 Ja! o g fadwed g1
BCSIEIRICRSIE

Options :

1. * YUIT HAT
2. % Qld ddTHl
3. ¢ QY AT
4, % HET ST

Question Number : 75 Question Id : 2752284092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaiad vy o, TR fawenl § 9, 39 fadhey &1 T B N &t 718 HaTdk &1 Wet 31 arer fawed g |
R[g b dlcl

Options :

1. % S fams &

2. % fqUg Bl

3. % IR

4. ¢ IS TG DI A ol

Question Number : 75 Question Id : 2752284092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fafaRed Uy &, IR fawedl § 9, 39 fadhed &1 98 & ol &1 715 GeTaX & Ja! o ara fadwed g1

Rleq I dicH]

Options :

1. % HH fors e

2. % fqg B3l

3. % JREHAT

4. ¢ =5 9] 1 T8 &l

Sub-Section Number : 2

Sub-Section Id : 275228265
Question Shuffling Allowed : Yes

Question Id : 2752284093 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

3 fou T e o 91 5 Uy AU TR § | 39 TR ®l ATHYad Ug 3R 9R [dwed! B ¥ Udd Uy HT 9arad SR g |

A4 S & T AARSH &1 3d ATTIH T ¢ | FARSH & HIA aUT YILF FB &0 & e A Siia= & 7T 91 &1 HH Hb Afad o
ITE P AT B od ¢ | AT G & 3R F B TARSH DI ATl ORI = SFTHT 1 T 3R SR-oi T8I cTd g1l 71T a9-
Y FIFAH TGS 39 3HTT DI T B o [ DT T3 | TARGH & &3 F fora off Yax 3901 T4 SHITShR §U B, 378 R (@arem) ot
TS & | IR BT SAHR 1890 Fo H UTAY Tedl TS gRT ARSI H a1 47| SR & TR A1 ugdl! IR ded § qaR gRIT
IR o 7T | YRd H Ugd a1 & YRS qTe] UTed Bl U OId & | 3614 Ugdl gares 1913 H S/ HRA SHdT 3 39t
YR-YR T B | 31T 3 HaHR R HRIs! SUTT TTT off XeT § 3R {3y § YRd &1 I 39 &5 # Uyl 8| Ugd-Ued ot oiTd o
Had qab o=l &1 gt o gidr oT| 1 § S9% e HeRur gia T | Iafs At § R &1 Uh Hedqul ”H ¢

Sub questions

Question Number : 76 Question Id : 2752284094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TE & IUR AMG SiiaH & forg FHRSH o 3aad 82
Options :

1. % GRI &l faaM & ferw

2. ¢ Sa & 1Y DI HH HH & oy

3, % IS HH B b [0




4. % Jaob! St & forg

Question Number : 77 Question Id : 2752284095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TARIH o1 MMIHR He 3R fram faram
Options :

1. ¥ 1890 S0 T YTAY Tedl TSHGH

2. % 1891 3o TR

3. % 1890 3o H GIaT UTed Wleh

4. % 1980 3o T YUY Ted TSRHA

Question Number : 78 Question Id : 2752284096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ugdl-Ugd fhd UBR i fored! &1 fAmior fasar mam
Options :

1. % T feell o

2. ¢ O oAl

3. % yog ol B

4. % T 9 @ gad e

Question Number : 79 Question Id : 2752284097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T8 B - 1 3N T FAMRY g 81 82
Options :

1. ® -

2. % Gl

3. ¢ YA

4. % 99



Question Number : 80 Question Id : 2752284098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S TG B g IUYad Y P-
Options :

1. % T i

2. % REH1 & JRITD

3. ¢ Tdifed B AR

4. % T fthed

Question Id : 2752284093 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

S TR & AMYE® Ue 3R IR fadmed § ¥ Td® Uy &1 qarad R g |

M4 SiaH & o AR B 3 SaIHd g | ARG & B4 94T W $S &0 & I8 H1a St & 789 9 &1 v dxb dfad &
ITE P AT B od ¢ | AT G & 3R F B TARSH DI Al ORI = SFIHT 1 T 3R SI-oi T8I cTd g1l 71T a9-
Y FAFAH TGS 39 U1 DI T B o [ BT T3 | TARGH & & H fora off Yax 301 T4 SHITShR §U B, 378 R (@ares)
T & | T o7 AR 1890 3o T UTAY Tedl TSI gRT ARG H foan 7T | SR & T a1 ugell IR ded H “qor’ g1
SRy foram T URd & Ugd R & YRIUS <1e] W1 Bl TS Old & | 3614 Ugal Iaras 1913 T §1T | HRTg ST A 39!
YR-YR IR BT | 31T 39 STTITT TR HRIS! $UdT AT o7 8T § 3R Oy T YR &1 I 39 &3 § UyH § | Ugd-Usd Jars siid o
Fad g fodll o1 g1 i grar o1l a1g § S9% eafaul g1 T | Iated o & HE &1 Uh Agayul RiF |

Sub questions

Question Number : 76 Question Id : 2752284094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG o IR A4 Si1a- & [ AR ol TaRId g2
Options :

1. % R DI faw™@ & o

2. ¢ Sta & S DI HH B P [T

3. % I8 HH B o Y

4. % FaDI Sffa & forg




Question Number : 77 Question Id : 2752284095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR o1 MIHR FHe 3R fram faram
Options :

1. ¢ 1890 30 H YIHY Tedl TSI

2. % 1891 3o TR

3. % 1890 3o H GIaT UTed leh

4. % 1980 30 H YTHY Tedl TSI

Question Number : 78 Question Id : 2752284096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ugd-Usd [ UBR D1 fUhed! ol faror fosar mam
Options :

1. % W fetl

2. ¢ g Al

3. % Yo ol

4. % fo=1 g @l gadt e

Question Number : 79 Question Id : 2752284097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STH Y D - T AT BT JHMRN TG 751 57
Options :

1. % AJIRTT

2. % Gl

3. ¢ 3{UAMI

4. % 9

Question Number : 80 Question Id : 2752284098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Y 396 BT Dl IUY M.

Options :

BRI KCIE

2. % RFa & dRgsh
3. ¢ I BT AATDHR
4. % O fthed

General English
Group Number : 5
Group Id : 275228133
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General English
Section Id : 275228223
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number :



Sub-Section Id : 275228266
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 2752284099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The mayor's political future has/ been hanging in a thread/ since the fraud scandal.

Options :

1. # The mayor's political future has
2. ¥ been hanging in a thread

3. # since the fraud scandal.

4. % No Error

Question Number : 81 Question Id : 2752284099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The mayor's political future has/ been hanging in a thread/ since the fraud scandal.

Options :

1. % The mayor's political future has
2. ¥ been hanging in a thread

3. ® since the fraud scandal.

4. ¥ No Error

Question Number : 82 Question Id : 2752284100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Bob's mansplaining and condescending/ attitude frustrated Natalie when/ she was the far more experienced engineer.
Options :

1. # Bob's mansplaining and condescending

2. ¥ attitude frustrated Natalic when

3. # she was the far more experienced engineer.

4. ® No Error

Question Number : 82 Question Id : 2752284100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Bob's mansplaining and condescending/ attitude frustrated Natalie when/ she was the far more experienced engineer.
Options :

1. #® Bob's mansplaining and condescending

2. ¥ attitude frustrated Natalie when

3. # she was the far more experienced engineer.

4. % No Error

Question Number : 83 Question Id : 2752284101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

As such, it was thought that codes could only be cracked (as there was collusion over two high-level) bank employees.
Options :

1. # as there was collusion under two high-level

2. # as there was collusion in two high-level

3. ¥ if there was collusion between two high-level



4. # No correction required

Question Number : 83 Question Id : 2752284101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

As such, it was thought that codes could only be cracked (as there was collusion over two high-level) bank employees.
Options :

1. % as there was collusion under two high-level

2. % as there was collusion in two high-level

3. ¢ if there was collusion between two high-level

4. # No correction required

Question Number : 84 Question Id : 2752284102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

It seems to me Ben, you have two challenges ahead of you, (but luckily either of them are insurmountable).
Options :

1. ¥ but luckily neither of them is insurmountable

2. # but luckily either of them is insurmountable

3. % but luckily neither of them are insurmountable

4. # No correction required

Question Number : 84 Question Id : 2752284102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.



It seems to me Ben, you have two challenges ahead of you, (but luckily either of them are insurmountable).
Options :

1. ¥ but luckily neither of them is insurmountable

2. % but luckily either of them is insurmountable

3. % but luckily neither of them are insurmountable

4. # No correction required

Question Number : 85 Question Id : 2752284103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

He can be a bit of a loudmouth, he's loud, he's , he's not discreet.

Options :

1. # deleterious
2. # conscientious
3. # subconscious

4. ¥ gregarious

Question Number : 85 Question Id : 2752284103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

He can be a bit of a loudmouth, he's loud, he's , he's not discreet.

Options :

1. # deleterious
2. % conscientious
3. * subconscious

4. ¥ gregarious

Question Number : 86 Question Id : 2752284104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

The Calcutta archdiocese has sent the Vatican information on a supposedly miraculous cure through the of Mother Teresa.

Options :

1. % decompression
2. ¥ intercession

3. % dispossession

4. ® progression

Question Number : 86 Question Id : 2752284104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

The Calcutta archdiocese has sent the Vatican information on a supposedly miraculous cure through the of Mother Teresa.

Options :

1. # decompression
2. ¥ intercession

3. % dispossession

4. # progression

Question Number : 87 Question Id : 2752284105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

He based the script
P. the Venerable Anne

Q. German stigmatist,



R. and a book by 19th-century
S. on the four Gospels

Catherine Emmerich.

Options :

1. # SPRQ
2. % SQRP
3. ¥ SPQR
4. ¥ SRQP

Question Number : 87 Question Id : 2752284105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

He based the script

P. the Venerable Anne

Q. German stigmatist,

R. and a book by 19th-century
S. on the four Gospels

Catherine Emmerich.

Options :

1. % SPRQ
2. % SQRP
3. ¥ SPQR
4. ¥ SRQP



Question Number : 88 Question Id : 2752284106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

Tortuous
Options :

1. # Plain

2. % Simple
3. ¥ Twisting
4. # Painful

Question Number : 88 Question Id : 2752284106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

Tortuous
Options :

1. # Plain

2. # Simple
3. % Twisting
4. # Painful

Question Number : 89 Question Id : 2752284107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Picayune
Options :
1. # Trivial

2. ¥ Consequential



3. % Paltry

4. % Materialistic

Question Number : 89 Question Id : 2752284107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Picayune

Options :

1. # Trivial

2. ¥ Consequential
3. # Paltry

4. % Materialistic

Question Number : 90 Question Id : 2752284108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # privelege

2. # priviledge

3. % priviliege

4. ¥ privilege

Question Number : 90 Question Id : 2752284108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # privelege

2. % priviledge



3. % priviliege

4. ¥ privilege

Question Number : 91 Question Id : 2752284109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # poscession

2. # posession

3. % possesion

4. ¥ possession

Question Number : 91 Question Id : 2752284109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. % poscession

2. ® posession

3. # possesion

4. ¥ possession

Question Number : 92 Question Id : 2752284110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Zero Tolerance
Options :
1. # To detect someone in the group is betraying the others.

2. # Riding in the front passenger seat of a car.



3. % To escape and not have to pay.

4. ¥ No crime or law breaking.

Question Number : 92 Question Id : 2752284110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Zero Tolerance

Options :

1. # To detect someone in the group is betraying the others.
2. # Riding in the front passenger seat of a car.

3. # To escape and not have to pay.

4. ¥ No crime or law breaking.

Question Number : 93 Question Id : 2752284111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Water under the bridge

Options :

1. # A paranormal sense that allows you to communicate with the dead.
2. ¥ Anything from the past that isn't significant or important anymore.
3. # To be very sick.

4. % Someone else who takes the blame.

Question Number : 93 Question Id : 2752284111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Water under the bridge



Options :

1. % A paranormal sense that allows you to communicate with the dead.
2. % Anything from the past that isn't significant or important anymore.
3. % To be very sick.

4. % Someone else who takes the blame.

Question Number : 94 Question Id : 2752284112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

One who believes that sensual pleasure is the chief good
Options :

1. # Sangfroid

2. # Dexterous

3. % Hedonist

4. # Versatile

Question Number : 94 Question Id : 2752284112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

One who believes that sensual pleasure is the chief good
Options :

1. # Sangfroid

2. % Dexterous

3. % Hedonist

4. % Versatile

Question Number : 95 Question Id : 2752284113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate 'one word ' for the expressions given below

A man who is womanish in his habits
Options :

1. # Hooch

2. % Infidel

3. # Indictment

4. ¥ Effeminate

Question Number : 95 Question Id : 2752284113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

A man who is womanish in his habits
Options :

1. # Hooch

2. % Infidel

3. # Indictment

4. ¢ Effeminate
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Sub-Section Id : 275228267
Question Shuffling Allowed : Yes

Question Id : 2752284114 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives

A sanctuary may be defined as a place where Man is passive and the rest of Nature active. Till quite recently Nature had her own sanctuaries,
where man either did not go at all or only as a tool-using animal in comparatively small numbers. But now, in this machinery age, there is no
place left where man cannot go with overwhelming forces at his command. He can strangle to death all the nobler wild life in the world to-day.
To-morrow he certainly will have done so, unless he exercises due foresight and self-control in the mean time.



There is not the slightest doubt that birds and mammals are now being killed off much faster than they can breed. And it is always the largest and
noblest forms of life that suffer most. The whales and elephants, lions and eagles, go. The rats and flies, and all mean parasites, remain. This is
inevitable in certain cases. But it is wanton killing off that [ am speaking of to-night. Civilized man begins by destroying the very forms of wild
life he learns to appreciate most when he becomes still more civilized. The obvious remedy is to begin conservation at an earlier stage, when it is
easier and better in every way, by enforcing laws for close seasons, game preserves, the selective protection of certain species, and sanctuaries.

I have just defined a sanctuary as a place where man is passive and the rest of Nature active. But this general definition is too absolute for any
special case. The mere fact that man has to protect a sanctuary does away with his purely passive attitude. Then, he can be beneficially active by
destroying pests and parasites, like bot-flies or mosquitoes, and by finding antidotes for diseases like the epidemic which periodically kills off the
rabbits and thus starves many of the carnivora to death. But, except in cases where experiment has proved his intervention to be beneficial, the
less he upsets the balance of Nature the better, even when he tries to be an earthly Providence.

Sub questions

Question Number : 96 Question Id : 2752284115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, how should you define a sanctuary?
Options :

1. # A place where Nature is passive and Man is active

2. % A place where Men activities are neutral and Nature is active
3. % A place where Natural activities are neutral and Man is active

4. ¥ A place where Man is passive and Nature is active

Question Number : 97 Question Id : 2752284116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the speaker deem as parasites of nature?
Options :

1. # Whales

2. % Elephants

3. % Lions

4. ¥ Rats

Question Number : 98 Question Id : 2752284117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why does speaker call "bot-flies or mosquitoes" pests and parasites?

Options :

1. # Because they cause much harm to human life and bring about disturbance in man's life.

2. % Because of their size and their insignificant presence.

3. ¥ Because they cause much harm to the natural wildlife by spreading diseases and disturbing the balance of nature.

4. # Because their growth in the recent times have been exponential outpacing other life forms.

Question Number : 99 Question Id : 2752284118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.
Options :

1. ¥ Whales, elephants, lions and, eagles are considered nobler life forms.

2. % Man today can kill all nobler life forms.

3. % Birds and mammals are dying much faster than they can breed.

4. ¥ Man should be neutral to all life forms and act as an institution to preserve the balance of nature.

Question Number : 100 Question Id : 2752284119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the speaker mean by the line, "But, except in cases where experiment has proved his intervention to be beneficial, the less he upsets
the balance of Nature the better, even when he tries to be an earthly Providence"?

Options :

1. # Man should experiment and bring about balance to the processes of nature.

2. # Man should be neutral to all life forms and act as an institution to preserve the balance of nature.
3. % Man should try to be the saviour of natural and earth by eliminating disease causing life forms.

4. ¥ Man should not interfere with the processes of nature, even if he is trying to be its saviour.

Question Id : 2752284114 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)



Read the passage carefully and choose the best answer to each question out of the four alternatives

A sanctuary may be defined as a place where Man is passive and the rest of Nature active. Till quite recently Nature had her own sanctuaries,
where man either did not go at all or only as a tool-using animal in comparatively small numbers. But now, in this machinery age, there is no
place left where man cannot go with overwhelming forces at his command. He can strangle to death all the nobler wild life in the world to-day.
To-morrow he certainly will have done so, unless he exercises due foresight and self-control in the mean time.

There is not the slightest doubt that birds and mammals are now being killed off much faster than they can breed. And it is always the largest and
noblest forms of life that suffer most. The whales and elephants, lions and eagles, go. The rats and flies, and all mean parasites, remain. This is
inevitable in certain cases. But it is wanton killing off that I am speaking of to-night. Civilized man begins by destroying the very forms of wild
life he learns to appreciate most when he becomes still more civilized. The obvious remedy is to begin conservation at an earlier stage, when it is
easier and better in every way, by enforcing laws for close seasons, game preserves, the selective protection of certain species, and sanctuaries.

I have just defined a sanctuary as a place where man is passive and the rest of Nature active. But this general definition is too absolute for any
special case. The mere fact that man has to protect a sanctuary does away with his purely passive attitude. Then, he can be beneficially active by
destroying pests and parasites, like bot-flies or mosquitoes, and by finding antidotes for diseases like the epidemic which periodically kills off the
rabbits and thus starves many of the carnivora to death. But, except in cases where experiment has proved his intervention to be beneficial, the
less he upsets the balance of Nature the better, even when he tries to be an earthly Providence.

Sub questions

Question Number : 96 Question Id : 2752284115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, how should you define a sanctuary?
Options :

1. % A place where Nature is passive and Man is active

2. % A place where Men activities are neutral and Nature is active
3. # A place where Natural activities are neutral and Man is active

4. ¥ A place where Man is passive and Nature is active

Question Number : 97 Question Id : 2752284116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the speaker deem as parasites of nature?
Options :

1. # Whales



2. # Elephants
3. #® Lions
4. ¥ Rats

Question Number : 98 Question Id : 2752284117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why does speaker call "bot-flies or mosquitoes" pests and parasites?

Options :

1. # Because they cause much harm to human life and bring about disturbance in man's life.

2. % Because of their size and their insignificant presence.

3. ¥ Because they cause much harm to the natural wildlife by spreading diseases and disturbing the balance of nature.

4. # Because their growth in the recent times have been exponential outpacing other life forms.

Question Number : 99 Question Id : 2752284118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.
Options :

1. ¥ Whales, elephants, lions and, eagles are considered nobler life forms.

2. #% Man today can kill all nobler life forms.

3. % Birds and mammals are dying much faster than they can breed.

4. ¥ Man should be neutral to all life forms and act as an institution to preserve the balance of nature.

Question Number : 100 Question Id : 2752284119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the speaker mean by the line, "But, except in cases where experiment has proved his intervention to be beneficial, the less he upsets
the balance of Nature the better, even when he tries to be an earthly Providence"?

Options :
1. # Man should experiment and bring about balance to the processes of nature.
2. # Man should be neutral to all life forms and act as an institution to preserve the balance of nature.

3. % Man should try to be the saviour of natural and earth by eliminating disease causing life forms.



4. ¥ Man should not interfere with the processes of nature, even if he is trying to be its saviour.
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Question Number : 101 Question Id : 2752284120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Resistance of the fabric against surface friction implies to which of the mechanical properties of a Fabric?



Options :

1. # Tensile Strength

2. % Pilling Resistance
3. % Abrasion Resistance
4. # Tear Strength

Question Number : 101 Question Id : 2752284120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g P TuU & faeg HUS & UlRIY BT A0 HUS & b TifAD 01 4 82
Options :

1. % G gy

2. % YIS UicRTY

3. ¢ SUEYUT UfcRTY

4. % IR IA

Question Number : 102 Question Id : 2752284121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Yarns which follow the SZS twist are named as

Options :

1. ¥ Cord Yarn

2. % Ply Yarn

3. # Single Yarn
4. % Novelty Yarn

Question Number : 102 Question Id : 2752284121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SZS AT PT SIERVT B aTd gd (AT) Bl T4 fear g
Options :




1. ¥ Bis gd (@)
2. % TS Yd (IH)
3. % RITTd gd @)
4. % Fidect gd @)

Question Number : 103 Question Id : 2752284122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The density of a fibre is recognized by
Options :

1. % Crimp

2. % Length

3. #* Finish

4. ¥ Denier

Question Number : 103 Question Id : 2752284122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R & G Dl ANREEIEIRC I ]
Options :

1. % foprg

2. % dalg

3. % fOfA

4. ¢ AW

Question Number : 104 Question Id : 2752284123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gingham, Organza, Georgette and Chambray are examples of which weave?
Options :

1. % Twill Weave



2. % Plain Weave
3. #* Satin Weave
4. % Basket Weave

Question Number : 104 Question Id : 2752284123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fiferm, TS, Siioie 3TR A%l b TS & IIBRUT 82
Options :

1. # Tdid g8

2. ¢ WIS

3. % e g5

4. % AP G5

Question Number : 105 Question Id : 2752284124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these control extra fabric and helps to create the shape of the garment?
Options :

1. % Sleeves

2. # Seams

3. % Darts

4. ¥ Bodice Block

Question Number : 105 Question Id : 2752284124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=90 O B Sfafad HuS &) FAHfd Har g 3R uRYM & MTHR & 991 H Ace HRdl 82
Options :

1. % 3T&H

2. % Hiad SIS (TR




3.« QI
4. % 9Ifsy <Ald

Question Number : 106 Question Id : 2752284125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which needle system is used in lock stitch machine?
Options :

1. % DPX5

2. ¥ DBXI1

3. % TVX5

4. % TQXI1

Question Number : 106 Question Id : 2752284125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

diie g == 7 foog g vomelt o1 v foba St 32
Options :

1. % DPX5

2. ¥ DBX1

3. % TVX5

4. % TQXI1

Question Number : 107 Question Id : 2752284126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the function of the Presser foot?
Options :

1. # To press the fabric against the needle plate
2. % To move the fabric

3. % To press the fabric against feed dog

4. # To allow the needle to pass through



Question Number : 107 Question Id : 2752284126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR e T T D g2

Options :

1. % 3 Wic & RIATH HUS DI GaH & [ad
2. % HUS &I fgaH & forg

3. ¢ IS S & AT HUS &l gdH & fouw

4. % g I UR DX 1 3TAN & & for

Question Number : 108 Question Id : 2752284127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Superimposed seam belongs to which class of seam?
Options :

1. ¥ Class 01

2. % Class 02

3. # (Class 03

4. ® Class 04

Question Number : 108 Question Id : 2752284127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RdeR e Sis fordg ot & g Siis @ Tefda 32
Options :

1.¥ @01

2. % Fi 02

3. % 03

4. % qif 04




Question Number : 109 Question Id : 2752284128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the comparative relationship of two or more elements in a composition in terms of size and quantity.
Options :
1. * Emphasis
2. % Rhythm
3. ¥ Proportion

4. % Balance

Question Number : 109 Question Id : 2752284128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
THR 3R TR & HaY & Ia1 H &1 a1 &1 F S1fIH Il BT JaTdd Tae g |
Options :
1. % 9IR
2. % dId
3. ¢ JHUId
4. % Hqar

Question Number : 110 Question Id : 2752284129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these describe "Texture' as an element of design?
Options :

1. # They are used to create visual appeal

2. % They draw interest to a concentrated area

3. % They refer to the nature of the surface

4. ¥ They refer to the overall shape of the garment

Question Number : 110 Question Id : 2752284129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

290 A P S & dcd & FU | gH19e BT JuIH HRT 82
Options :

1. % 3] IUTNT TG Utd 9 & fort fHar Srar g
2. % J Hfod & 7 B MHid Hd g
3. ¢ J A8 B! UPHA BT I B &

4. % J GRY P JHY PR BT I HId &

Question Number : 111 Question Id : 2752284130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of 'Rhythm' refers to the incremental change in the state of a design element?
Options :

1. % Radial

2. % Transition

3. ¥ Gradation

4. ¥ Repetition

Question Number : 111 Question Id : 2752284130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o TR &1 T fEomzH dd &1 Rufa & gig=ia ufvad= &1 dehia g2
Options :

1. % YT

2. % gRadA

3. ¢ Tffaxu

4. % goeXld

Question Number : 112 Question Id : 2752284131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of these fabrics melts in flame and forms into hard bead, when subjected to a burning test?
Options :

1. ¥ Nylon

2. % Rayon

3. % Linen

4. % Cotton

Question Number : 112 Question Id : 2752284131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ QI

2. % M

3. % fome

4. % Plcd

Question Number : 113 Question Id : 2752284132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From which textile plant fiber is Linen derived from?
Options :

1. * Hemp

2. % Cotton

3. * Jute

4. ¥ Flax

Question Number : 113 Question Id : 2752284132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

form forg US WY & XA 4 UTed gl 82

Options :



1. % YT (51)
2. % Pled

3. % J¢

4. ¥ et

Question Number : 114 Question Id : 2752284133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The taffeta is a type of fabric that incorporates spandex.
Options :

1. % Paper

2. % Faille

3. ¥ Stretch

4. # Shot Silk

Question Number : 114 Question Id : 2752284133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
dWHdl Uh UHR HT HUST ¢ Forad ey TfHd giar gl
Options :
1. % DI
2. % Bl
3. ¢ fd=ma
4. % e Red

Question Number : 115 Question Id : 2752284134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is also referred to as ready to wear.
Options :

1. #* Haute Couture



2. % Pret-a-Porter
3. % Bespoke
4. % Atelier

Question Number : 115 Question Id : 2752284134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
& U & U TR & T H ff ST ST 81
Options :
1. % BI3d BIFN
2. ¢ UA-T-UIR
3. % foquis
4. % TCTRR

Question Number : 116 Question Id : 2752284135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The stage is also known as the acceptance phase.
Options :

1. # Rise

2. % Decline

3. % Introduction

4. ¥ Peak

Question Number : 116 Question Id : 2752284135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR B Wipid TR &b =4 # 1} S S ]
Options :
1. % gfe
2. % 3fafd



3. % gy
4. ¢ Ui®

Question Number : 117 Question Id : 2752284136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Fall/Winter begins in

Options :

1. # January

2. % December

3. * June

4. ¥ July

Question Number : 117 Question Id : 2752284136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tags/Rd®»g  HAYE gl
Options :

1. % SaRt

2. % fageR

3. % 9d

4. TS

Question Number : 118 Question Id : 2752284137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
represents the most daring, unconventional and wild designs.

Options :

1. # Atelier

2. ¥ Avant-Garde
3. # Label



4. % Ensemble

Question Number : 118 Question Id : 2752284137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HaY e T, SINIRFTT 3R SHTel (drses) fEumsHi &1 U@ s 5
Options :
1. % TR
2.« 3MTaT e
3. % d9d
4. % GURYH (THIEA)

Question Number : 119 Question Id : 2752284138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these seams are generally used for fine, sheer fabrics, which fray?
Options :

1. # Flat-Felled Seam

2. % Lapped Seam

3. % French Seam

4. ¥ Plain Seam

Question Number : 119 Question Id : 2752284138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

70 T B It o s (W) SMHAR R HeH, URSRS HUS, B J W & ot IuUNT Bt i1l 82
Options :

1. % Tole-Bas T o (=)

2. % S Tiad oS ()

3. ¢ Thd Tigd irs (1)

4. % a1 g9 Sre (IR




Question Number : 120 Question Id : 2752284139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of these is not a type of Pleat?
Options :

1. # Pintucks

2. % Accordion

3. ¥ Fisheye

4. ¥ Knife

Question Number : 120 Question Id : 2752284139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
270 A B Wie &1 UHR T8l 82
Options :

1. % fUcey

2. % IAPHITSTT

3. ¢ fihRrang

4. % QR

Discipline2
Group Number : 7
Group Id : 275228135
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
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Discipline2

Section Id : 275228225
Section Number : 1

Section type : Online
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Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 275228269
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 2752284140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The  pockets has an extension turned down over the opening.
Options :

1. * Welt

2. * Bound

3. ¥ Flap

4. % Patch

Question Number : 121 Question Id : 2752284140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

_ Uide # U & FWR AR (TameyE) A1 o R flear man g
Options :

1. % <le}

2. % 9138



3. ¢ T
4. % U9

Question Number : 122 Question Id : 2752284141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these terms apply to the removal of impurities such as oil, wax or gum from textile materials?
Options :

1. # Desizing

2. ¥ Scouring

3. % Bleaching

4. # Dyeing

Question Number : 122 Question Id : 2752284141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH ¥ $IF 91 Weg HUS U I, HE AT 711G ot SISl Bl g & o AR 8ia 82
Options :

1. # f&qmgeren

2. ¢ WHINAT

3. % fa¥deH

4. % SR

Question Number : 123 Question Id : 2752284142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these examples of Bleaching agents belong to the reductive agent category?
Options :

1. # Chloramine

2. % Sodium Hypochlorite

3. ¥ Sodium Hydrosulphite



4. # Potassium Permanganate

Question Number : 123 Question Id : 2752284142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faor Teiet & 3 Iarexull § @ 1 I dgbRe Jult ¥ Teifdd 82
Options :

1. % FARARA

2. % YIi$TH gRUIRIRISC

3. ¥ HIfSTA BIZGRIhIZe

4. % Uiy AT

Question Number : 124 Question Id : 2752284143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hotplate, Roller and Gas are related to which of these wet processing techniques?
Options :

1. % Mercerizing

2. % Printing

3. ¥ Singeing

4. ¥ Scouring

Question Number : 124 Question Id : 2752284143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

glcwie, ek 3R T 378 I 5T TH UshauT dob-iiep I Hefid g2
Options :

1. % g

2. % BUTS

3. ¢ TS

4. % WHINAT




Question Number : 125 Question Id : 2752284144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Adhivastra, Kurlra and Andpratidhi refer to which ancient period form of clothing?
Options :

1. ¥ Vedic Period

2. % Indus Valley Civilization

3. ® Gupta Period

4. % Mughal Period

Question Number : 125 Question Id : 2752284144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3ffeasd, PRI SR Sieufafd FUST & fhy U &1 & T BT Ieed HRd 82
Options :

1. ¢ dfde Fgar

2. % ¢ 91t ggan

3. % It DI

4. % I dId

Question Number : 126 Question Id : 2752284145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Kayabandh refers to which of these?
Options :

1. # A piece of upper body clothing

2. # A thigh band

3. % A cloth wrapped around the waist
4. # A lower body garment

Question Number : 126 Question Id : 2752284145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

HITEY 30 I fray Tefird g2
Options :

1. % JW IRR & HUS| BT (bl
2. % FYSS

3. ¢ HIR H AU STl HUS]

4. % Fod IRR BT IRYM

Question Number : 127 Question Id : 2752284146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The 'Jama' was introduced in

Options :

1. # Satavahana Period
2. ® Kushan Period

3. ¥ Mughal Period

4. ¥ Mauryan Period

Question Number : 127 Question Id : 2752284146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
STTHT DI o Uy fosar am o1
Options :

1. * Ylddlg- dId

2. ® DY hTA

3. ¢ HI I

4. % A o1d

Question Number : 128 Question Id : 2752284147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Kauseya and Ksauma were used to denote which of these in the Sutra age?
Options :

1. # Pearls & Gold

2. ¥ Silk & Linen

3. % Upper & lower

4. % Sewing & weaving

Question Number : 128 Question Id : 2752284147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

20 ¥ frd FAfid o & e SR SR ST &1 uaT 93 g1 § fosar Sirn ur
Options :

1. % Ty 3R AT

2.« - 3R forA

3. % GUl 3R A=

4. % Y IR T8

Question Number : 129 Question Id : 2752284148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
are traditionally used as fastenings, holding folds of fabric together.
Options :
1. # Cufflinks
2. ¥ Brooches
3. #® Sashes
4. % Veils

Question Number : 129 Question Id : 2752284148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P! URURS U T BREFT.HUS B TRl B! Th 1Y Uh g & ol UGN fHar Srar g |




Options :
1. % Bpfcid
2.9 9d
3. % AN
4. % dd

Question Number : 130 Question Id : 2752284149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The  Bag has a scooped top with a long shoulder strap.
Options :

1. % Shopper

2. % Barrel

3. ¥ Hobo

4. % Bucket

Question Number : 130 Question Id : 2752284149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I Td HY % UL &b 1Y WS S Bl g |
Options :

1. % QIR

2. % &R

3. ¥ Bdl

4. % gabc

Question Number : 131 Question Id : 2752284150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The  isa soft, round cap generally made of wool.
Options :



1. # Panama
2. # Fedora
3. ¥ Beret

4. % Bowler

Question Number : 131 Question Id : 2752284150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, M A R S IR R ST A S I B
Options :

1. # U-THI

2. % BRI

3. ¥ T

4. % §IeR

Question Number : 132 Question Id : 2752284151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of these is not a type of headgear?
Options :

1. # Fillets

2. % Hoods

3. % Cravat

4. % Bonnet

Question Number : 132 Question Id : 2752284151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

30 ¥ B RR P U810 (BSTI8R) BT UBR a1 82

Options :

1. % fihcie



2. % g8
3. ¢ $hac
4. % gHc

Question Number : 133 Question Id : 2752284152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these is not a part of SM method of production?
Options :

1. # Material

2. % Machine

3. % Model

4. % Man

Question Number : 133 Question Id : 2752284152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g0 A B IdTeH B sM I 1w T8t 82
Options :

1. % g

2. % I

3. ¢ Higd

4. % 3faHl

Question Number : 134 Question Id : 2752284153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

All pattern pieces are placed on a marker in only one direction. Which mode of marker suggest the same?
Options :

1. ¥ Nap-either-way

2. ¥ Nap-one-way



3. % Nap-up and down
4. #® Group

Question Number : 134 Question Id : 2752284153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

quft Yo & Th S ATHR IR Pael Ueb 32T 7 TQ T & | HIhR BT B AT cRidhT Te) Jid Sl 82
Options :

1. % qU3WJ

2. ¢ Jugda

3. % qU-FHW AR

4. % YHg

Question Number : 135 Question Id : 2752284154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pieces corresponding to specific sections of the garment are bundled together and given to one operator. Which type of bundling system is this?
Options :

1. # Item

2. ¥ Progressive

3. % Group

4. ¥ Modular

Question Number : 135 Question Id : 2752284154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R o AP U & ST Chal Bl U ITY e T § 3R SfiRer &I fear o1 8 | 78 fhd UsR &t ssfei yurmett g2

Options :

1. ® Hq

2. ¢ TTfRie
3. % {g




4. % TSR

Question Number : 136 Question Id : 2752284155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
consists of activities such as market research and requirements, supplies management and order control.
Options :
1. # Production Logistics
2. ¥ Procurement Logistics
3. % Dispositional Logistics

4. # Distribution Logistics

Question Number : 136 Question Id : 2752284155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A IR STHUT 3R SMIRIHTY, SHMYfd Yaier 3R 3SR o St nfafafer wnfie g1
Options :
1. % JdGT YR
2. ¢ WG YHR-H
3. % faRUMIgd YHR-GH
4. % fqaRur GUR-TH

Question Number : 137 Question Id : 2752284156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Order processing and warehousing are key responsibility area of which of these?
Options :

1. # Business Logistics

2. ¥ Distribution Logistics

3. * Dispositional Logistics

4. % Production Logistics



Question Number : 137 Question Id : 2752284156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSR TR 3R AT 394 3 [y T e StRalid &7 g2
Options :

1. ¥ UR YHR-dF

2. ¢ {qaR0I GUR-GA

3. % fqRYMISd YR

4. % JdTe YHR-A

Question Number : 138 Question Id : 2752284157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a synthetic fibre made from polypropylene or polyethylene and is used in the clothing and furniture industry.
Options :
1. # Spandex
2. % Rayon
3. ¥ Olefin
4. ¥ Nylon

Question Number : 138 Question Id : 2752284157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TrelTUIaTel a1 Treufels @ -1 IXad V=0T § 3R 3TPBT IUTNT HUS 3R BARR IanT & frar 9 g |
Options :
1. % Wsa
2. % M
3. ¢ 3{Ieifth
4. % e



Question Number : 139 Question Id : 2752284158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In , the fiber is reinforced into cloth by a specific type of needle.
Options :

1. # Meltblown Non-Wovens

2. % Acupuncture Non-Wovens

3. % Stitch Non-Wovens

4. % Pulp Air-laid Non-Wovens

Question Number : 139 Question Id : 2752284158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A Ay IR o1 g2 gRT 4mh &1 3 H Yeg fobar srar g

Options :

1. % HeTaSh IR-§1 gl
2.  TRIUFRR IR-FAT g3
3. % fYas TR gan

4. % Uo TIR-0IS TR-§1 §¢

Question Number : 140 Question Id : 2752284159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a textile material produced by matting, pressing and condensing fibres together.
Options :
1. % Kevlar
2. % Rayon
3. ¥ Felt
4. % Velvet

Question Number : 140 Question Id : 2752284159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

USSR B TS 1Y IR, G 3R =M DI Hufd HRap HiHd gieh 5|

Options :
1. % HaR
2. %

3. ¢ qHal
4, % HYGHA
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Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 2752284160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of these is not a type of inventory?
Options :

1. #® Cycle Stock

2. % Demand Stock

3. ¥ Decoupling Stock

4. % Safety Stock

Question Number : 141 Question Id : 2752284160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
299§ DI I HI-TH BT UHR T8l /2
Options :

1. % Hrgfdhd Kb

2. ¢ f&HIE T

3. % fgpufei wiw

4. % Ut Kb

Question Number : 142 Question Id : 2752284161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these is a type of inventory which is a result of supply or/and demand variability?
Options :

1. # Decoupling stock

2. ® Work-in-progress stock

3. % Safety Stock

4. # Cycle Stock



Question Number : 142 Question Id : 2752284161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0 U S Y YHR B! A1-GAT § S (e /3R AT uRkad-=iterar &1 alkomd g2
Options :

1. % {Epitnwid

2. % FHI-YI Wi (Th-31-U1 WLlh)

3. ¢ YW Wb

4. % HIgidhd Kid

Question Number : 143 Question Id : 2752284162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is also known as the point of purchase.
Options :
1. # Fixtures
2. % Cash Wrap
3. ® Promotional Aisle

4. % Entrance

Question Number : 143 Question Id : 2752284162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
&1 o6 R & =U | off 51 S 5
Options :
1. % flhaeR
2. ¥ HRAY
3. % TR UY
4. % Yyl

Question Number : 144 Question Id : 2752284163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
is a diagram which shows how and where specific articles should be placed.
Options :
1. ¥ Planogram
2. % Gondola
3. % Flowchart
4. # Layout

Question Number : 144 Question Id : 2752284163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3R § S gifar § o fafiy avgaefl &) 9 SR gl @ S 91|
Options :
1. ¥ WU
2. % gl
3. % Gl ATe
4. % |33

Question Number : 145 Question Id : 2752284164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Homopolymer and Copolymer fall under which classification of polymers?
Options :

1. # Classification on the basis of molecular force

2. % C(lassification on the basis of chain growth

3. ¥ C(lassification on the basis of number of used monomer types

4. # C(Classification on the mode of polymeric growth

Question Number : 145 Question Id : 2752284164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



HIUIAR 3R DHIAIER, UieHR & forg aiffexor & Sfaia s g2
Options :

1. % JUAH T & YR TR FIHDHROT

2. % 9RGAT gfG b YR W aNHROT

3. ¥ U U Ad UHRI DI AAT o YR TR JHHR0T

4. % GEAD gig (YIRS T1) & <RI TR aHIpRul

Question Number : 146 Question Id : 2752284165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these are not the bonds that are used for intramolecular bonding?
Options :

1. # Ether linkage

2. % Covalent bond

3. # Benzene ring

4. ¥ Hydrogen bonding

Question Number : 146 Question Id : 2752284165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TTH Y DI I 3id: S ST P 1T JUANT T I a1l S+ el 62
Options :

1. % R fefope

2. % GEAlSll ey

3. % oo T

4. ¥ BISGIoH 3MTde

Question Number : 147 Question Id : 2752284166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is not a macrostructure feature of a fiber in fiber morphology.



Options :

1. % Crimp

2. # Color

3. % Length

4. ¥ Orientation

Question Number : 147 Question Id : 2752284166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT SHTRGDT (HTZER Alpiciron) H ¥ Pt VY- fawd Tl 2
Options :
1. ® foprg
2. % 3
3. % qalg
4. % AIRTUq

Question Number : 148 Question Id : 2752284167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On being subjected to a force, a fiber stretches to a certain degree, what it is described as?
Options :

1. * Tensile Strength

2. % Elastic Recovery

3. ¥ Elongation

4. % Volatility

Question Number : 148 Question Id : 2752284167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I P A 8 R, T 3= FAfd a1 9 el S1dT 8, 33 T el ordl 82

Options :



1. % G gy
2. % AHGR YA:UIG (SdRed Raparl)

3. ¢ dfg
4. % AR

Question Number : 149 Question Id : 2752284168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The tab in MS PowerPoint contains built in Themes.
Options :

1. ¥ Animations

2. % Review

3. ¥ Design

4, % Insert

Question Number : 149 Question Id : 2752284168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

MS TTaR@IZUe & CEACEEERIEERE]
Options :

1. % TFHRE

2. % kg

3. ¢ f&amzA

4. % 3¢

Question Number : 150 Question Id : 2752284169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The function in MS Excel ensures all the empty spaces are eliminated.
Options :

1. ¥ IF



2. ¥ MAX & MIN
3. ¥ TRIM
4. % COUNT

Question Number : 150 Question Id : 2752284169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ms Toa | Tra= g3 R § fob gt W gerfeu mu B
Options :

1. # IF

2. % MAX 3R MIN

3. ¥ TRIM

4. % COUNT

Question Number : 151 Question Id : 2752284170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the keyboard shortcut for copy and paste?
Options :

1. #® Shift+C

2. % Crtl + C then Crtl + V

3. % Ctrl Alt F then Ctrl Alt Y

4. # Shift+Tab

Question Number : 151 Question Id : 2752284170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
P13k URe & forw FaIS Wedwe 7182
Options :

1. % Rue + ¢
2.¢ Crtl + C TR Crtl + V



3. % Ctrl Alt F TR Ctrl Alt Y
4. % ey

Question Number : 152 Question Id : 2752284171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is measured from the armpit to the wrist.
Options :
1. # Top Bust
2. % Arm Length
3. # Elbow
4. # Front Length

Question Number : 152 Question Id : 2752284171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P B T HdTs db AT SITaT 2|
Options :

1. % 3O BT

2. ¢ BIY DI el
3. % PigAl

4. % 9183 I8

Question Number : 153 Question Id : 2752284172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a 2-dimensional method of preparing a paper pattern.
Options :
1. # Draping
2. ¥ Drafting
3. ¥ Modelling



4. % Tllustration

Question Number : 153 Question Id : 2752284172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR e SR B ) 2-anh AR B
Options :
1. % QU
2. ¢ TG
3. % HisfeT
4. % o

Question Number : 154 Question Id : 2752284173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these is not a content of a paper pattern?
Options :

1. # Grain Line

2. # Fold Line

3. ¥ Drape Line

4. % Stitching Line

Question Number : 154 Question Id : 2752284173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
79 9 B 11 U Ue ot gl el 82
Options :

1. % Y &S

2. % g Xl

3. ¢ Ul

4. % TS &t @



Question Number : 155 Question Id : 2752284174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the difference between the actual body measurements & the garment measurement.
Options :
1. ¥ Ease
2. # Line
3. # Grain
4. % Set

Question Number : 155 Question Id : 2752284174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR IRR AT 3R GRYH A9 & o HT IR g
Options :
1. ¥ 39l
2. % 34l
3. % I
4. % U

Question Number : 156 Question Id : 2752284175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Tricot type of warp knitting is done by using which of these needles?
Options :

1. # Latch needle

2. ¥ Bearded needle

3. % Compound needle

4. % Carbine needle

Question Number : 156 Question Id : 2752284175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % dgHed

2. ¢ Sies Ated

3. % HUES Ared

4. % PHEEA Asd

Question Number : 157 Question Id : 2752284176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The of a latch needle draws and retains the new loop.
Options :

1. # Rivet

2. % Hook

3. % Latch-Blade

4. ¥ Latch Spoon

Question Number : 157 Question Id : 2752284176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RERIESED a1 9 WAl § 3R §1E 3@l g |
Options :

1. % Pias (Rde)

2.9 8D

3. % OIS

4. % O T

Question Number : 158 Question Id : 2752284177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The are achieved by cylinder needle selection.
Options :

1. # Accordion Fabric

2. ¥ Rib Jacquard

3. % Single Jersey Jacquard

4. % Weft Knitted Jacquard

Question Number : 158 Question Id : 2752284177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R gE 9 griud fear S g
Options :

1. % BT high

2. ¢ Rav@rs

3. % f¥Tret o SiepTs

W ¥ O\ SN [of
4, % dipc [HCS Sihls

Question Number : 159 Question Id : 2752284178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these have a characteristically ribbed surface?
Options :

1. ¥ Damask

2. % Tweed

3. ® Tartan

4. ¥ Corduroy

Question Number : 159 Question Id : 2752284178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % EIGR (THh)
2. % gte

3. % Sl

4. ¥ PR

Question Number : 160 Question Id : 2752284179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fabrics have a dense piled surface texture.
Options :
1. # Crepe
2. % Fur
3. % Net
4. % Smocked

Question Number : 160 Question Id : 2752284179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HUS H g1 e Idg §-1de gt ol

Options :

1. % by

2. ¢ HUISH

3. % q¢

4. % WIFS
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Group Number : 9
Group Id : 275228137

Group Maximum Duration : 0



Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline4

Section Id : 275228227

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 275228271

Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 2752284180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
has a fuzzy texture.

Options :

1. ¥ Wool

2. % Crepe

3. % Linen

4. % Viscose

Question Number : 161 Question Id : 2752284180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
o ol §FTae g |

Options :

1. ¥ 3

2. % oy

3. % foA

4. % faprg

Question Number : 162 Question Id : 2752284181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a cloth hand spun and hand woven in India. It was popularised by Mahatma Gandhi.
Options :
1. # Ikat
2. % Kota Doria
3. ¥ Muga Silk
4, ¥ Khadi

Question Number : 162 Question Id : 2752284181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % ghc
2. % DI SINAT
3. % T Rieh
4. Qg

Question Number : 163 Question Id : 2752284182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The Kanjeevaram Silk emerged from which state of India?
Options :

1. ¥ Tamil Nadu

2. % Orissa

3. % Karnataka

4. % Kerala

Question Number : 163 Question Id : 2752284182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRA & b XoT J PHioiaxd I Iad g2
Options :

|, ¢ qEd TG

2. % 3fifswm

3. % Plcd

4. % Rd

Question Number : 164 Question Id : 2752284183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Calico print technique is employed in which of these?
Options :

1. # Bagru

2. % Phulkari

3. % Sanganeri

4. % Kasavu

Question Number : 164 Question Id : 2752284183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Bttt fife aob-iid 518 4 frad BRI 62

Options :



1. % SR
2. % HADRL
3. ¢ AT
4. % $HAg

Question Number : 165 Question Id : 2752284184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Nilambari, Pitambari and Raktambari is related to which of these?
Options :

1. ¥ Banarasi Jamdani

2. # Sambalpuri

3. # Chanderi

4. % Pashmina

Question Number : 165 Question Id : 2752284184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ﬂ . ﬂ’ ﬂ . ﬂ &ﬁ? . ﬁ E- @_ E g . -fi %:?
Options :

1. ¢ SR STHEH
2. % GIAGRH

3. % 9l

4. % UL

Question Number : 166 Question Id : 2752284185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The conceptualize, design and implements windows and in-store displays.
Options :

1. #* Fashion Co-ordinators



2. # Fashion Buyers
3. % Merchandise Managers
4. % Visual Merchandisers

Question Number : 166 Question Id : 2752284185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
STt 3R 39-ER fo¥l o SauRon, fEoE iR HrRfad- HRdl 5
Options :
1. % BRH 99-99®H
2. % B WER
3. % UG Uy
4. ¢ TG AR

Question Number : 167 Question Id : 2752284186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The role of a 1s to maximize profitability by limiting markdowns and achieving and exceeding sales targets while also limiting excessive
inventory.

Options :

1. % Marketing Manager
2. % Operations Manager
3. ® Retailer

4. ¥ Merchandise Planner

Question Number : 167 Question Id : 2752284186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % [9UUH U§UDH




2. % IAIdH U
3. % Qa1 fadhd
4.+ QUg QIGHTHR

Question Number : 168 Question Id : 2752284187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The  basting stitch has a longer stitch on the right side of the fabric and a shorter length on the wrong side.
Options :

1. % Even

2. % Uneven

3. #* Diagonal

4. % Herringbone

Question Number : 168 Question Id : 2752284187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # 9HMH

2. % 3YHAI

3. % fapul

4. % gRETa

Question Number : 169 Question Id : 2752284188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
binding is cut on the cross grain.

Options :

1. % Straight binding

2. % Bias binding



3. % French binding
4. # Straight Grain binding

Question Number : 169 Question Id : 2752284188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
 IRETHNIT R TS B
Options :

1. % e agf&n

2. ¢ ORI T8

3. % b qISfST

4. % i1 U9 SI8f&T

Question Number : 170 Question Id : 2752284189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The knife machine has a floating table which supports the block of work and facilitates cutting with minimum disturbance to the layers
of cloth.

Options :

1. % Straight Knife
2. ¥ Band Knife
3. % Round Knife

4. % Computer controlled cutting

Question Number : 170 Question Id : 2752284189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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U&= Hal gl
Options :
1. % Ty gRap
2. ¢ §3 GRFT




3. % T gRDI
4. % SR IR i

Question Number : 171 Question Id : 2752284190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of these is not a sewing machine?
Options :

1. ¥ Fusing Machine

2. % Double Needle Overlock Stitch

3. # Single Needle Lock Stitch

4. % Button Sewing Machine

Question Number : 171 Question Id : 2752284190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T ¥ B R Ry o= et 8
Options :

1. ¢ TSI HRI

2. % 39 s MRl Riars

3. % e Hed ol e

4. % gc Ryas A==

Question Number : 172 Question Id : 2752284191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The are produced using the Jamdani technique.
Options :

1. ® Paithani Silk Sari

2. ¥ Uppada Silk Sari

3. % Chanderi Silk Sari



4. # Sambalpuri Silk Sari

Question Number : 172 Question Id : 2752284191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STHEM! dhiice BTITNTHID I IATG fbar Sdl o
Options :

1. % YT =W 1S

2. ¥ JWST A i

3. % T W wre

4. % GIAYR! =Y Ira

Question Number : 173 Question Id : 2752284192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fabric is tied and knotted and then dyed to create unique pattern.
Options :
1. # Batik
2. % Ikat
3. % Bandhini
4. % Block

Question Number : 173 Question Id : 2752284192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
|. % qIich
2. % ghc
3. ¢ el
4. % SAIDb




Question Number : 174 Question Id : 2752284193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Srikalashashtri and Machilipatnam are styles of which art?
Options :

1. # Chikankari

2. ¥ Kalamkari

3. * Paithani

4. % Jamdani

Question Number : 174 Question Id : 2752284193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FH AR 3R HS TS TH [ Bl B Aferdl g2
Options :

1. ® fRIpIbRY

2. ¥ HAABRI

3. % Uouft

4, % SHEHI

Question Number : 175 Question Id : 2752284194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Market segmentation on the basis of lifestyle is the definition of which of these?
Options :

1. # Behavioural Segmentation

2. ¥ Psychographic Segmentation

3. % Geographic Segmentation

4. ¥ Demographic Segmentation

Question Number : 175 Question Id : 2752284194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % eI fauTsH

2.« TIZHIUTD! fTHSH

3. % Yfere fAHTeH

4. ® SGIRTB I fAHTM

Question Number : 176 Question Id : 2752284195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the promotion of a product by developing strategies.
Options :
1. # Development
2. % Distribution
3. ¥ Merchandising
4. ® Design

Question Number : 176 Question Id : 2752284195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I faRid FRap fohdl! SadTe ST UER g
Options :
1. ® fgprg
2. % faavor
3. ¢ fospt
4. % foomga

Question Number : 177 Question Id : 2752284196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Selective Attention, Selective Distortion and Selective Retention are examples of which type of psychological factor influencing a person's
buying choices?

Options :

1. ¥ Motivation

2. % Perception

3. # Learning

4. % Beliefs and Attitude

Question Number : 177 Question Id : 2752284196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TR

2. ¢ SPfd

3. % g

4. % fay SR o

Question Number : 178 Question Id : 2752284197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When the consumer is highly involved in the purchase but sees little difference in the brands resulting in the purchase to be expensive, infrequent
and risky. What kind of consumer buying behaviour is this?

Options :

1. # Complex Buying Behaviour

2. ¥ Dissonance-Reducing Buying Behaviour
3. # Variety-Seeking Behaviour

4. # Habitual Buying Behaviour

Question Number : 178 Question Id : 2752284197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Sfcd Y TagR

2.« A (FEST=T)-HH B a1 H AIGR
3. % bW DAl FAgR

4. % 3{Iqd Y TdER

Question Number : 179 Question Id : 2752284198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fashion consists of the four P method.
Options :

1. % Merchandising

2. % Buying

3. # Designing

4. ¥ Marketing

Question Number : 179 Question Id : 2752284198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
| 7 9R p fafy A B
Options :

1. % foent

2. % by

3. % &SI ST

4. ¢ fauuE

Question Number : 180 Question Id : 2752284199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
is an ornamental needlework in which patches of fabric are sewn to a larger pieces to form a pattern.
Options :
1. ¥ Applique
2. % Embroidery
3. % Beadwork
4. # Quilting

Question Number : 180 Question Id : 2752284199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FoTract e ¢ ford T §9H & ol Hus & 9 &1 9 ¢hal | d [ S g
Options :
1.« oIl
2. % HEls
3. % T Ry

4. % ISR ST
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Section Id : 275228228
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Mandatory or Optional : Mandatory
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Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 2752284200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a design technique to control fullness in a piece of fabric with embroidered stitches.
Options :
1. # Couching
2. % Quilting
3. ¥ Smocking
4. # Piping

Question Number : 181 Question Id : 2752284200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FGls aldl Cid & 1Y HUS & ghe B YUidT ! IR e o forg fEoms doiia 5 |
Options :
1. % BI3f
2. % TSI M
3. ¥ JAC B Helg
4. % Trsfua




Question Number : 182 Question Id : 2752284201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is also known as detached chain stitch.
Options :
1. % Button hole stitch
2. % Lazy Daisy
3. # Back stitch
4. # Feather stitch

Question Number : 182 Question Id : 2752284201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
@ fgcwe o RiaE & wu & Ht S o 6|
Options :
1. % §c9 &¢ R
2. ¢ ol Solt
3. % Ui & Ryars
4. % TR Ry

Question Number : 183 Question Id : 2752284202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a slightly textured and raised stitch, forms a lumpy texture.
Options :
1. ¥ French knot
2. % Cross stitch
3. % Back stitch
4, % Chain



Question Number : 183 Question Id : 2752284202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS} gTaC aTell 3R IHI 88 RIS §, STeR d-Tace & g |
Options :
1. ¢ Ta Hie
2. % Py R¥ars
3. % Ul o1 Ryarg
4. % T

Question Number : 184 Question Id : 2752284203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Beesley Balance is a laboratory testing machine which is used to determine
Options :

1. # Yarn Evenness
2. ®* Yarn Friction
3. # Yarn Twist

4. % Yarn Count

Question Number : 184 Question Id : 2752284203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Jgd @) IHdl

2. % gd (@) gy

3. % Jd @) fgee

4.« gd @) e

Question Number : 185 Question Id : 2752284204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of these materials and instrumental factors do electronic capacitance testers not depend upon?
Options :

1. # Effect of moisture content in the strand

2. # Strand-Thickness

3. % Cross sectional shape of the strand

4. ¥ Lap-to-lap variation

Question Number : 185 Question Id : 2752284204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
30 T f5g Il 3R YgTae RS R sadei-e UTiRar (HuRReq) e Ak 98 axa g2

Options :

1. % Y H TH B A= BT UHE
2. % YAT-ARCTS

3. % Y1 o1 yfafeard® PR
4. QAU-Z-AU

Question Number : 186 Question Id : 2752284205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a method of textile testing?
Options :

1. % Sample preparation

2. % Procurement

3. # Calculation

4. # Report

Question Number : 186 Question Id : 2752284205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % FHAT GOR BT

2.« YUl

3. % TUMA

4. % fourd

Question Number : 187 Question Id : 2752284206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these is not an example of Accreditation of Laboratory of International Standards?
Options :

1. ® ISO

2. % GATT

3. % [EC

4. ¥ CRE

Question Number : 187 Question Id : 2752284206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # ISO

2. % GATT

3. % IEC

4. ¥ CRE

Question Number : 188 Question Id : 2752284207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Anchor Point, Direction line, Closed path and Simple path are related to which tool of the Adobe Illustrator?
Options :



1. # Mesh Tool

2. % Pen Tool

3. # Blend Tool

4. % Eyedropper Tool

Question Number : 188 Question Id : 2752284207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ORI ¢d

Question Number : 189 Question Id : 2752284208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these is not a part of Adobe Photoshop Tools Panel?
Options :

1. ¥ Layers

2. # Retouching

3. % Navigation

4. % Selection

Question Number : 189 Question Id : 2752284208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
0 U B fSTell BRI ¢ Ud o fexdl 781 82
Options :

1. ¢ TR



2. % el
3. % feoTad
4. % IO

Question Number : 190 Question Id : 2752284209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
allows us to hide the areas of an object without actually deleting or editing the unwanted areas of that object in Adobe Illustrator.
Options :
1. # Lasso Tool
2. # Eraser Tool
3. ¥ Clipping Mask

4. % Free Transform Tool

Question Number : 190 Question Id : 2752284209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 191 Question Id : 2752284210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The helps to draw curves in the shape of a solitary line per pointer in CorelDraw.
Options :

1. % Artistic media

2. ¥ Bezier



3. % Ellipse

4. % Dimension tool

Question Number : 191 Question Id : 2752284210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Dol Hifsal

2. ¢ §ifoRR

3. % drdgq (Tferw)

4. % SUTE T

Question Number : 192 Question Id : 2752284211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mesh, Fill, Blend and Distortion belong to which category of tools in CorelDraw?
Options :

1. # Eyedropper

2. ¥ Interactive

3. % QOutline

4. % Fill

Question Number : 192 Question Id : 2752284211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

731, fiba, sdis SR feweiR dRagl o forg 4ot & g @ Hefdd g2
Options :

1. % AEIMW

2. ¢ HAlaTHSD

3. % d[pl



4. % B

Question Number : 193 Question Id : 2752284212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which specifically can be considered as a cause of Seam Puckering?
Options :

1. ® Improper trimming or finishing

2. ¥ Improper thread tension

3. #® Improper seam width

4. ® Incorrect placement of Needle

Question Number : 193 Question Id : 2752284212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o faRiy U § e Sis Ugrad (W IS TRAT) &1 HROT AT ST Jhdl 82

Options :

1. ® 3ffId wers a1 gl (FhHRi)

Question Number : 194 Question Id : 2752284213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A wrong gradation would refer to which type of quality related defect?
Options :

1. # Sewing Defect

2. % Colour Defect

3. % Garment Defect

4. ¥ Sizing Defect



Question Number : 194 Question Id : 2752284213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foh TP o T0TaT et G &l Tad Gl Ul e iid Hm?
Options :

1. % Ryas qy

2. % W QN

3. % URYF G

4. ¢ HR QY

Question Number : 195 Question Id : 2752284214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these is not a type of label used in the Garment Industry?
Options :

1. % Batch Mark Label

2. # Special Label

3. % Composition Label

4. ¥ Custom Label

Question Number : 195 Question Id : 2752284214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

99 | D IRYUM IGNT & U 81 aTell Aad &l bR 8l 32
Options :

1. % 99 HIP A9

2. % foRIy o9

3. % AT A

4. ¢ HIH AT



Question Number : 196 Question Id : 2752284215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these is not a part of the final inspection of a garment?
Options :

1. # Absence of fabric faults & stain

2. ¥ Stitches per cm and thread run-in ratio

3. # Correct labelling

4. % Correct cut and shade

Question Number : 196 Question Id : 2752284215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TTH W HH A1 U uRyH & sifom fteror o1 fewar 1t 82
Options :

1. % $US & Iy 3R GFT BT SRR

2. ¢ T Ufd em 3R IS -3 3JUTd

3. % el dafei

4. % g PHels IR TS

Question Number : 197 Question Id : 2752284216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The addition of white to pure hue results in
Options :

1. # Shade

2. ®% Tone

3. % Tint

4. ¥ Chroma

Question Number : 197 Question Id : 2752284216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

e & g g 1 FAaH R T BT 8
Options :

1. % 7S

2. % 2H

3. ¢ fde

4. % T

Question Number : 198 Question Id : 2752284217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The colour scheme uses colours that are evenly spaced around the color wheel.
Options :

1. # Split-complementary

2. % Analogous

3. % Complementary

4. ¥ Triadic

Question Number : 198 Question Id : 2752284217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T GG 39 TN BT ITART Bl § ot W1 I & IR} SR T g8l R R B |

Options :

Question Number : 199 Question Id : 2752284218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The term translates to sketch.
Options :

1. # Illustration

2. % Croquis

3. # Design

4. # Pattern

Question Number : 199 Question Id : 2752284218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y DI 3fIAIE WA gl
Options :

1. %

2. ¢ Hifedd

3. % fSoe

4. % Yoo

Question Number : 200 Question Id : 2752284219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these colours symbolize evil and mystery in fashion color psychology?
Options :

1. # Blue

2. % Red

3. % Purple

4. ¥ Black

Question Number : 200 Question Id : 2752284219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR T HAIGTH #3980 I S I 3T RT3 3R 3§ &1 Ui 82

Options :



1. % el
2. % @
3. % Y
4. DIl



